FLORDA DERARTAMENT OF

Business & Professional Regulation

BCIS Home | LogIh | User Registration

Wmﬁmm mumnmﬁﬂm:_”n Hot Topics |
cmmsmm.wﬂ -

Professional ( e=tiaee="
Regulation

FL #

Application Type
Code Version
Application Status
Comments
Archived

Product Manufacturer
Address/Phone/Email

Authorized Signature

Technical Representative
Address/Phone/Email

Quality Assurance Representative
Address/Phone/Email

Category
Subcategory

Compliance Method

Florida Engineer or Architect Name who developed
the Evaluation Report

Florida License

Quality Assurance Entity

Quality Assurance Contract Expiration Date
Validated By

Certificate of Independence

Referenced Standard and Year (of Standard)

Equivalence of Product Standards
Certified By

Sections from the Code

Submit Surcharge |

g?&i DAPR ZDBRR DILISH

Stats & Facts = Publications | FBC Staff | BCISSiteMap | Links

Product Apgroval Menu > Product or Appication Search > Appiication List > Application Detail

FL400-R3
Revision
2010
Approved

American Shutter Systems Association, Inc.

4268 Westroads Drive
West Palm Beach, FL 33407
(561) 209-8263
bfeeley@easternmetal.com

Bill Feeley
Irodriguez@easternmetal.com

Shutters
Roll-up

Evaluation Report from a Florida Registered Architect or a Licensed
Florida Professional Engineer
~ Evaluation Report - Hardcopy Received

Walter A. Tillit, Ir.

PE-44167

National Accreditation and Management Institute
12/31/2013

John Henry Kampmann Jr.

' Validation Checklist - Hardcopy Received

ification of Ind

TAS 201, 202, 203 1994



Product Approval Method

Method 1 Option D

Date Submitted 12/16/2011
Date Validated 12/16/2011
Date Pending FBC Approval 12/27/2011
Date Approved 01/31/2012
Date Revised 02/20/2012

Summary of Products

FL # Model, Number or Name

Description

40mm & 60mm Bertha Roll
Shutter (HVHZ) - Drawing Number
11-210

400.1

Aluminum Roll Shutter (Up or Down) Slats and supporting
frame for storm protection

Limits of Use

Approved for use in HVHZ: Yes

Approved for use outside HVHZ: Yes

Impact Resistant: Yes

Design Pressure: N/A

Other: Large Missile. ASD Design Pressure rating: +40
p.s.f., -40 p.s.f. at 4'-2" span and +100 p.s.f.,, -100 p.s.f. at
2'-10" span (for 40mm slats), and +40, -40 p.s.f. at 6'-5"
and +195, -195 p.s.f. at 3'-9" (for 60mm slats). See sheet
9 of installation drawing for additional spans and pressures.

Installation Instructions

4 1 A__DRWG 11-210.pdf
Verified By: American Test Lab of South Florida Inc.
Created by Independent Third Party: Yes
Evaluation Reports
FL400 R3 AE ASSA Product Evaluation
Report_drwg11-210.pdf
Created by Independent Third Party: Yes

Approved for use in HVHZ: No

Approved for use outside HVHZ: Yes

Impact Resistant: Yes

Design Pressure: N/A

Other: Large Missile. ASD Design Pressure rating: +25
p.s.f.,, -25 p.s.f. at 5'-2" span and +100 p.s.f., -100 p.s.f. at
2'-10" span (for 40mm slats), and +25, -25 p.s.f. at 7'-8"
and +195, -195 p.s.f, at 3'-9" (for 60mm slats). See sheet
9 of installation drawing for additional spans and pressures.

400.2 40mm & 60mm Bertha Roll Aluminum Roll Shutter (Up or Down) Slats and supporting
Shutter (Non-HVHZ) - Drawing frame for storm protection
Number 11-209

Limits of Use Installation Instructions

FL400 R3 II ASSA DRWG 11-209.pdf

Verified By: American Test Lab of South Florida Inc.
Created by Independent Third Party: Yes
Evaluation Reports
FL400 R3 AE ASSA Pri
11-209.pdf

Created by Independent Third Party: Yes

valuation report

Contact Us :: 1940 North Monroe Street, Talahassee FIL 32399

=)

The State of Florida is an AA/EEO employer. Copyright 2007-2010 State of Florida, :: Privacy Statement :: Accessibiity Statement :: Refund Statement

Under Florida law, e-mail addresses are public records. If you do not want your e-mail address released in response to a public-records request, do not send
electronic mail to this entity. Instead, contact the office by phone or by tradional mail. If you have any questions regarding DBPR's ADA web accessibility, please
contact our Web Master at webmaster@dbpr.state.fl.us.

Product Approval Accepts:

VERIFY S

securitymrrnics

iR




GENERAL NOTES:

1. ASSA/40mm & 60mm BERTHA ROLL-UP SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.ED.) HAS BEEN VERIFIED FOR CODE
COMPUANCE IN ACCORDANCE WITH THE 2010 EDITION OF THE FLORIDA BUILDING CODE. ASSA/40mm & 60mm BERTHA ROLL-UP
MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES,

DESIGN WIND LOADS SHALL BE CETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE,
FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL
NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 14.

IN ORDER TO VERIFY THE ABO DITION, L
B e e AR S NDELON: il LoADE B MULTPLYING. THEN oY 06 1N ORDER 10

TO COMPARE THESE W/ MAX. (AS.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 14,

IN ORDER TO VERIFY THAT COMPONEMTS AMD ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE
IN ALLOWABLE STRESS FOR WIND LOADS WAS MOT USED IN THER ANALYSIS, HOWEVER, A DURATION FACTOR CO=1.60 WAS USED
FOR VERIFICATION OF FASTENERS IN WOOCD.

ASSA/40mm & 60mm BERTHA ROLL-UP'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 1626 OF THE ABOVE MENTIONED CODE AS PER TAS-201, 202 & 203 PROTOCOLS PER FENESTRATION TESTING LAB
REPORTS #2748, 2751 & 2760.

2, ALL ALUMINUK EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6083—T6 ALLOY & TEMPER (SEE COMPONENTS SHEET).

3. ALL SCREWS TO EBE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN
50018 W,/ 50 ksi YIELD STRENGTH AMD 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION
2411.3.3.4. ALL TEK SCREWS SHALL BE AS MANUFACTURED BY ITW BUILDEX, INC.

4, BOLTS TO BE AST.M. A-307 GALVANIZED STEEL CR AISI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.

5. STORM BARS AT FLOOR AMD CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS, HOWEVER,
EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE INSTRUCTING THE TENANT OR
OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE DURING PERIODS OF HURRICANE WARNING AND
THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE PROTECTION UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

6, REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT THEY CAN BE
REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIGNS OR NOT) SLATS ARE ROLLED DOWN. THE EFFECT OF THE SLATS
ROLLED DOWN WITHOUT STORM BARS 1S; THOSE SLATS WILL SUP OUT OF TRACK DUE TO THE DEFLECTION CAUSED BY WIND
FORCES.

ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):
(A) TO EXISTING POUREC CONCRETE: (Min. fle=3192 psi)
- 1/4" TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX.

7.

NOTES:
A1) MINIMUM EMSEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 3/4"
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEOMENT,

A.2) MINIMUM EDGE DISTANCE OF TAPCON ANCHORS INTO CONCRETE BLOCK SHALL BE 2 1/2".

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS
INDICATED ON NOTES A.1 ABOVE.

(B) TO EXISTING CONCRETE ASTM C-90 BLOCK WALL:
- 1/4" TAPCON ANCHORS AS MANUFACTURED BY ITw BUILDEX.

NOTES:
8.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4"
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMERNT.

B.2) MIMIMUM EDGE DISTAMCE QF TAPCON ANCHORS INTO CONCRETE BLOCK SHALL BE 2 1/2" !,i" P\' T!LL})- ’.".—
1",4\_ e, WD FLORIDA BUILDING CODE (High Welocity Hurricane Zone)
B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL\&%\‘, : QENSF e,
LONG EMOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. \‘\& ‘\",x - - " ©2011 TLTECO, INC. ASSA/4Qmm & 60mm BERTHA ROLL-UP ‘:&‘f.'}c’.:r:
¥ A @@
(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G = 0.55 MiN. Q "."%— 2 — !ILIE c 0 . AMERICAN SHUTTER SYSTEMS ASSOC., NG, ”Q&é“
3 H ; G.
xS G 4268 WESTROADS DRIVE
L% s TR TESTIG & ENGHEERIG COMPANE wesr RS O e
= S & QV Phana 1 (305)871-1330". Fex : (305)871-1831 Pnone @ (877) 999-2772 . Fox : (561) 209-2380
ES ’?O,{ ;‘LGR\'__»"\’ ~moit lilecodsal com e e | ORaWING Ho
Ny i ‘ oy . PE. oem w5 | |
= CSSOMBL o ety i ) SHE 0P e
Likd

NOTES:
—1/4"s LAG SCREWS PER N.D.S, 2005

C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS, INTQ THE WOOD FRAME UNIT SHALL BE 1 1/2%

NO THREADED PEMETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PEMETRATION.

€.2) MINIMUM ENGE CISTANCE OF LAG SCREWS INTO WOOD SHALL BE 2%

C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE

WALL, ANCHORS SHALL BE LONG ENOQUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
WMINIMUM THREADED PENETRATION SHALL BE AS INDICATED OM NOTE C.1 ABOVE,

© ®

SHOWN ON SHEETS 5, 5A, 58, 6 & 7 OF 14

TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, POWER BOLT & CALK-—|

RESPECTIVELY.

ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.
. ANCHORS REQUIRED FOR STORW BARS, HEADER & MULLIONS CONNECTIONS SHALL BE AS SPECIFIED ON ARPLICABLE SECTIONS
IN ANCHORS TO BE AS MANUFACTURER BY FOWERS

FASTENERS, INC. AND KWIK BOLT TZ EXPANSION ANCHORS TO BE AS MANUFACTURED HILTI, INC

MINIMUM EOGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR AS SHOWN ON
CORRESPONDING DETAILS FOR EACH SHUTTER COMPONENT INSTALLATION IN THIS DRAWING, WHICHEVER IS LARGER {MORE CRITICAL).

MINIMUM EMBEOMENT

ANCHOR SPACING
=1/4"® TAPCON 3
~1/4"9 CALK—IN 2 yyet
—3/8" CALK-IN 3 3/4"
—3/8"0 POWER BOLT 3 3/4"
—~3/8"¢ KWIK BOLT TZ 6"
—-1/2"8 KWIK BOLT TZ 9 3/4"

10. IT SHALL BE THE RESPONSIBILITY OF
ATTACHED TO INSURE PROPER ANCHORAGE. THI
BUILDINGS,

11, THE INSTALLATION CONTRACTOR IS TQ SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH
THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

12. ROLL-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.
13, ASSA/40mm & 60mm BERTHA ROLL—UP INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING

EDGE DISTANCE
3

3
1

/
1/

4 1/2"

4 1/2"

+ 3/8"
p

S SHUTTER SHALL

POURED CONCRETE
1 3/4" (Min, F'c=3192 psi)
7/8" (Min. f'c=3000 osi)
1 1/4" (Min. Fc=3000 psi)
1 3/4" (Min. f'c=3000 psi)
2" (Min. f'e=3000 psi)
3 1/4" (Min. f'¢=3000 psi)

THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME

AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

14, {a) THIS P.ED, PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT;

i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.ED,

(b) COMTRACTOR TO BE RESPONSIBLE

FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODBUCT, BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT,

CONSTRUCTION SAFETY AT SITE 1S THE CONTRACTOR'S RESPONSIEILITY.

(c) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLOR

ENGINEER OF REGORD (E.Q.R.)
ENGINEER OF REGORD, ACTING AS A
SPECIFIC ORAWINGS FOR REVIEW.

FOR THE

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL ANO SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT

PREPARED IT.

15. ROLL—UP MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT ASSA/40mm & 60mm BERTHA ROLL-UP

PROJECT AND WHO

IN ACCORDANCE WITH SECTION 1715.8.3 OF FLORIDA BUILDING CODE.

#1422 E- | ABEL SHALL BE PLACED FOR EVERY OPENING. LABEL]

DA REGISTERED ENGINEER OR ARCHITECT WHICH WiLL BECOME THE
WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.ED.
DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATIER THE SITE

ING TO COMPLY WITH SECTION 1715.8.2 OF THE FLORIDA BUILDING CODE.

EXISTING

CONCRETE BLOCK
1 1/4" (ASTM C-90)

1 1/4" (ASTM C€-20)

e P



—— MAXINUM HEADER SPAM (SEE SCHEDULE)-

— -3
@y i]w F’w:rmr@ <:; A e, Y "\(‘Ofm —@ DD #@)  ~ e
OR {/h or é\f} Cnnl @B (é‘
! T { W or {Z1)
N i 2 3 \ D@
~ * H b
7, L
| 7 ' ~ T T
£ 7 A) z g | e =] /‘ o
g A A Jor{AT 1 S s —s g
e A SS—
% 7 " (e ‘—‘ﬂé- EE e— 7 ; g
E ] = 7 &7 @
¥ ) —~ e -4 b4 e —— = — 5= W | i ]
EA /4_.,0 [ P r AP —— e fb—s———— s f—s——r—1’ r &
4 =z
: OOEO~T— ‘ i
2 7 Z ‘ 2 E
¥ 7 = ] )
5 (3 - = 5
.' 7 - %’] O O——— B
Tz : @or @) Z ———=—1I &
é (Typ. Ea. END) ; - 3
7 5 E
7 . ) B v : 3
Z i AES N
BRI
l"‘ 7). WHEN
Mas, SLAT SPAN (SEE SCHEOULE) APRLICABLE
Max. SLAT SPAN (SEE SCHEOULE) Max, STORM BAR SPACING (SEE SCHEDULE)

®

]

T

MOTE: SEE SHEET 2 & 3 OF 14 FOR COMPCNENTS NOHENCLATURE

Y Qor @

Maz, MULLION SPACING ’——

|
LA f,’ pid s,

Hox, MULLION SP.NCING
(SEE SCHEDULE)
LSS LS AL /////

NOTE: SEE SHEET 2 & 3 OF 14 FOR COMPONENTS NOMENCLATURE.

V) Dor(Z)

Mox, HEADER SPAN &

O@O (7 cont.

@\// S LSS LI SIS S @ oF @\ ///// /,////// AL LA S AL
! ki i L\ l ifi
1 i !I I i i JorR
@ 4 | L@ @ o« @ : i i S0 fﬂ
o | -l iy 1 i L =] Q
! or p— =
A | 0«0y — — =
& o (B! i | ‘ ! | | =
@ i il it Ao @~ |! P = e i H—{ %2
1 i il ———T \ il H— H ] 84
0 1 1 [ — —ili (Typ.) I N W — — 2 il — . 8
- | ifi il J I i — 1~
z v I:’g'_—-ll ift i it il — &z
5 2 i i | "_“.._.w._"’——‘—‘_,_@ﬁ‘i :EEE;EE —z4
3 ' i = 7 - F—s —| F—s—1li s — F—s—i|i F— @ 3
2 1 | ] = ©OE=E X i i T
= 5 i i i T = == == it =
= s ] (| e vy g i | ey : £z
3 ! i it — ®@@——"’L’E a H—FR i R :‘:::sl-r—gg
= ! [ }f e na i il -o——ﬁ_-*n—k—i: g
= i : R () I F—— f=E g
e =~ ‘ B oeEy B ih = =l S
i i = i e ; 2 il i L
AR ANNENNEERRRA RN RSNYENNSTAN /\X.\. NNNAN W NN RSN AN H
P I
i B | w1 Max. SLAT SPAN (SEE SCHEDULE) 7 | Jr 2 ™~ I~
Mox. SLAT SPAN[ Max. STORM BAR SPACING (SEE SCHEDULE) % WHEN -
d 1 APPLICABI

(SEE SCHECULE)!

NOTE: SEE SHEET 2 & 3 OF 14 FOR COMPONENTS NOMENCMTUPE

NOTE:
SEE SECTICNS ON
SHEEIS 4 THRU 7.

/-
‘e

WHEN

Al NSECUTIVE MULTS LINIT ATION
NQTE: SEE SHEET 2 & 3 OF 14 FOR COMPONENTS. NOMENCLATURE.

APPUCASLE

o JEIII s,

?\p TILI_ 57 e

i"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2011 TLTECO, INC.

ASSA/40mm & 60mm BERTHA ROLL-UP

DRAWN BY:
LG /ABEP.

/ TLIEC O me. \

TILLIT TEST\NG & ENGINEERJNG COMPANY

AMERICAN SHUTTER SYSTEMS ASSCC,, INC

4283 WESTROADS DRIVE
WEST PALM BEACH, FL. 33407

12/07/11
DATE

FLORIDA tic f 44167

e, 5, Fl 165
mﬂu s JA?I-NO Py Em)ﬂl =531 Phone : (877) $39-2772 . Fox : (561} 209-a380
~mail
N mmgﬁ 006713 eV, 0 [ | Ao, e orscAFRen 9Nt
ALTER A. m.m Jr. PLE. ] €L 6-155 12,6771

a1 AT T {

11-210
CRAWING No

SHEET 1A OF 14




r——?.UUO' -“-——‘ i-—:.nﬂo“*——w

‘-'72‘000'—-1

=y
. 250" B 3 % 250"
5 o N R o
:

@TYPE 1 siar: () 1YPE 2 SiAT: (B) BoTIoM SLAL: (©) IYEE 1 STORM BAR: (5) Type 2 STORM BAR ’

60 mm EXTRUDED 40 mm EXTRUDED EXTRUDED ALUMINUM 2" EXTRUDED STORM BAR " EXTRUDED STORM BAR @ . ® TYPE_4 STORM BAR:

ALUMINUM SLAT ALUMINUM SLAT BOTTOM SLAT Aona 16NN AL DL §063~T8_ALUMINUM ALLO' "
608376 ALUMINUM ALLOY G063~T6 ALUMINUM ALOY 508318 ALUMHUN ALLOY SCALE: 1/2" = 1 iy e + EXTRUDED STORM 82R 4" HEAVY EXTRUDED STORM BAR
SCALE: 1/2" = 1 SCALE: 1/2" = 1" SCALE: 1/2" = 1" 6083-Ta ALUMNUM ALLOY ey o
SCALE: 1/2" = 17
"‘—‘*'Low'—hi‘-——l.ﬂﬂo'_—i
3.000" i— +.0C0" i +.000" | 000"
3/8"-16e4 1/2" S5,
CAP SCREWS W/HUT T r r
@ 24" 0.C. STARTING
AT 10" FROM TGP AND
BOTTOM OF STORM BAR. i .g 125 JS 250° D 125"
8 L1267 ] o ;
I g e g ) g4 Fom g t
250" 250" s
b B o 115 (mey™) I §
(G) HEADER TYPE 1: (H) HEADER TYPE 2 OF:! TYPE 3; ©) R 4
6063-T8 N-UMWUM N.LOY 6063-T6 ALUMINUM N.LOY 6083-T8 ALUM]NUM ALLOY €063-T6 N'WIN.EIM ALLOY
SCALE: 1/2" SCALE: 1/2" = 1" SCALE: 1/2" SCALE: 1/2" = 17

)

) IYPE 5 STORM BAR: o
2" HEAVY EXTRUDED STORM BAR a7 e '
. 267" 3007 w 28] W 26937 ———"1 =
B083-TE_ALUMINUN ALY y gy 2 Lo s 2 | ; e o
SCALE: 1/2" = 1 SIS M ) R - “ _l - ’: (il L i ]
: : y . L E B——
_ g g g 8 R 5 VN o6 o, P 4 é_,ll Um i ' _I:usa- a2 - g
— £.000" i 216" ‘ 216°—=| 1={ =8 E" 8 8 g 'r'_: g "E,,. r::._ Pl: ) : Ll
'i',!,_i aas" 354 ’fn bty =t s 354t ) l ":_"—'“' = end e — *5
55 |- 7 B e e 13 .
- g - \ % EE.J}_—[ G a0t & @ TYPE 5
9

DE9”
TP,
159

: SIDE_RAIL: FOR
F+ @ TYPE 3 @ IYPE 4 608316 Alum. ALLOY

. SIDE RAIL: FOR SIDE RAIL: FOR(A) i g
® .II.EE_l @ _G‘E%T:E_N%:%T-® gﬁci!L-ETﬁ iﬁ;u;:. ':L?t

. RAIL: g Ty 1
R 5¢ SIDE RAIL: FOR(®) WL ,‘9 SCALE: 1/2" = 1

7

5063-T Alum, ALLOY TiL
2 i St o, SCALE: 1/2p% i\ 6:,
gy i e
RS Y
\'_:'. FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2011 NLTECO, IHC. ASSA/40mm & 60mm BERTHA ROLL-UP "fz‘f}‘..i*’

T

AMERICAN SHUTTER SYSTEMS ASSOC.,, INC. ‘zf;‘xé“

4265 WESTRC.‘DS DRIVE

LT TESTING & ENGINEERING COMPANY
. ta. 305, VRGIA GARDENS, Fl. 33166 WEST P . FL 33407 11-210
go,g;sn-mu e a5 Fhane : (77) 599—2?12 Foc : (381) 203-8380
o e=mail: DRAWING Mo

e rppa st

SHEET 2 OF 14

EB-0006719
VIALTER A, TILUT Jr. P.E. '
FLORIDA Lic. § 44187 2




URED

SCALE: 1/2" = 1"

SIDE RAIL ANCHOR SCHEDULE MAXIMUM A.S.D.

DESIGN PRESSURE RATING

.6 . f.)AND

CORRESPONDING MAXIMUM ANCHOR SPACING(in) *
CONNECTION TO

FOR SIDE RAILS

_ @@

SECTION Q = @ : MULLION MOUNT

SCALE: 1/2" = 1"

SECTION B — R :

{FACE MOUNT) SCALE: 1/2° = 1"

1/8" Cont.
ALUIGNUM ANGLE

Fol
CONCREEE OR™, . - TARCON —— s
T /. ANCHORS
e :::EETE . . Reatn BL‘“}\Z/ " 2% % 18 Cont, Aun. ANGLE [ ﬁg"siﬁé’éﬁ\ i Fouen mgl.%g(rz o / - ’@ @
?sNEc: OSRCSHEDULE\ // ?QECE sciznms on e ; 2 Reares T oR
SR\ WESN e 7| e 2y o ®
2 ‘ - :| 06 oc T —
i /{, I} 7 £0 SRR Ti( 6s_:resws 1,/4") pxah
CTH, L, £ G L 1737 ®3% oc Jopd
//.//‘_ //////// i C'R | //,:/; @DR uim f%ﬂ‘;&‘é{\?{s = ﬁsxsxl meéu%‘rhw [0 & \
_‘_‘@)ﬂ a 20 e @ € oo & ﬁ
4—i—£0~ _ s o ’ ]
_,\_,_M( g ;/E B s @9"? ) or (@) ":
‘ / =l :: T urer \.Lr (= e
i L OO0O® LT el e S — - e gw —
ax, res)
| S S 1\ S— Y EE— |
SECTON £ - P (1) : WAL ounT DO00-0 ¢l oe0e® —mTo0oro "It /
soug 127 - 1" SECTION P = P (2) : SIDE WALL MOUNT ..\ "0 o 5) 1 BUILD~OUT MOUNT ot 1= &
SCALE: 172" = 1" ’ ~ W-1 OR W-2 @@@@0’? D:D> W-1 OR W-2

MULLION MOUNT
(FACE MOLNT)

2" x 2% x 1/8° Cont.
fiviuod AMGe

POURED CONCRETE OR CONCRETE BLOCK WALL e & e /veg
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) 96 oe 0 & oc
et
e e SIDE RAIL ®) SIDE RAIL &) SIDE RAIL(D) SIDE RAIL ) @or @) ® T ‘ 0r (D)
PRESSURE
RATING (ps.f) [wae wounr | NSIBE | BULD-oUT fyay pounr | NSBE. | BYLDROUT Jwas wount | NBOE | BQIRSONT Fowa wounr | WROE | EYRGET r—l— 0 [ e
o] g0
4" 8" 6" 4 6" 4 1/2" 6" 6" 4 1/2" g" [om— (PRSI | oy ¥ a3
<
€0 OR LESS = o = & o & o) = e p /] L-}f" @ -in \\
. Max,
32t = 5" 3 120 - 4 1/2" 3 [ 4 1/2" 3~ 8" ® op ® \_® @
80 TO 150
7 2 8" 8" &" 8" " 8" 6 6" 8" & @ @OR @ @ @Oﬁ @
. Y B - e s | s | - 51/2" SECTION R = R : MULLION MOUNT (INSIDE MOUNT)
>150 TO 195 » SOALE: 1727 = 17
5° 8" 8" 5" & 6" 3 8" 8" [

SIDE RAIL ANCHOR SCHEDULE MAXIMUM A.S.D.

DESIGN PRESSURE RATING (p )
CORRESPONDING MAXIMUM ANCHOR SPACING(in) *
FOR SIDE RAIL CONNECTION TO POURED

. 8. 1.) AND

CONCRETE OR CONCRETE BLOCK WALL

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAXIMUM A.S.D.
DESIGN SIDE RAIL @
PRESSURE
RATING (p.s.f.) THSDE BUILD—-0UT
=
VAL MGUNT MOUNT MOUNT
& &" 8"
80.0 OR LESS
a“ en ﬁ"
& 5 8"
>80.0 T0 100.0
8" 5 &

CONCRETE BLOCK

* MAXIMUM ANCHOR SPACING (in.) AT SIDE

RAILS VERSUS EDGE DISTANCE = E. D.

POURED CONCRETE

SUBSTRATE LEGEND

MAXIMUM SIDE RAILS

3" EDGE DISTANCE.

SHOWN ON THIS SHEET ARE VALID FOR

ANCHOR SPACINGS

Ly,

"é\% T LUf

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

Bl ASSA/40mm & B60mm BERTHA ROLL-UP “L“Q“}L%“
Z ll L I E c O inc. E AMERICAN SHUTTER SYSTEMS ASSOC,, INC. ’Qé‘zé“
4268 WESTA0ADS DRIVE
TILLL?W r;iﬂ;ﬁ lf}%l:cmma COMPM‘lL WEST PALM BEACH, FL. 33407 11=210
Frors (GCB{TITIE . Fan : (G05E7I 21530 Prona : (877) 599-2772 . Fox : (581) 209-8380
e muéa 0006719 FEV. KO pESChTicH DAL | ALY, Mo “DEscaPne o DRAWING Mo
WALTER_ A, TILUT Jdr. P.E. L Gib ce-158 _ fi2/a0/1( 3
" FLORIOA Lic. j‘Jns? P | I | RSETR | T SHEET 4 OF 14




1.5 11/2%1 1/2"1/8"%

" "1 /8" FOR IMSTALLATION INTO COMNCRETE, 5 3 W
14 5 1 347 TECo 8% 1 1 374 o or(Y) o g, LGRS TN Ao e G, i 0'-3 1/2" ALUM. ANGLE W/
FOURED CONCRETE W/ ANCHORS @ 12° 0.C. / ANCHORS @ 12° - Al ANGLE EA. SIDE CENTER OF ANGLE EACH SIDE FOR (1) 3/8% KWIK BOLT TZ
5° Min. THICKNESS REQD — S @ ANCHOR AT EACH SICE.
) ANY CONDITION UNDER AS.D. DESIGN
i (f=-1000 nsl Mm) } , N /' | PRESSURE RATING OF 40psf & FOR on
’ / 5 o ard /1 } > [ CONDITIONS W,/ A.S.D. DESIGN
/ / / / S /// / Fouren mﬂgg A Gt 3 3 D b PRESSURE RATING BETWEEN 40ps! T0
in. - ABLE § & USE (1) 3/8"
, i e % (> o aoy o e o ) ©
g2 1 ¢ ! % @B JNGLE EACH SIDE FOR GREATER ASD.
i —r0 o | \ DESIGH PRESSURE RATING AND SPAN
o ge ST | OR | L] 2 O CONDITIONS. FOR INSTALLATION INTO . = o
I g 3 ¥, | ! Y — E'Eﬁngﬁ? E:ér (2‘] 1/4"03/4" TEK 2
H \ 1 3 / ] "
I | i U ] EO. . TE(2) 14783/ TEK 4 o
& & B ' | 1/4 843
i ] i i | 4 L ¥ i 7 ‘.V I Z@Oﬁ@ i) Jrtl oy T / A ]-*[4 al / 2
:: — < 4 WA e BT & L
I | i % S | | CPAAFA | |V A— £3 /OUT HERER - SECTION § - § (FOR FIXED STORM BAR OF WALl 8 b agmesr T
" 1 ~ - T M } 5
0 L it 4 . 1 ! aproA. RIS SECTION 82 - 82
i Vi o SELALE L R R
I i— FOR CASES il ! +
N osanes } WSt Hes 8f i . — FOR INSTALLATION 110 CONGRETE, SCALE WIS,
e | TRRONM, . i i ol STl BAR DE WicHoR Af CeNTER 0F ANGLE sAcH siE Fom
i i ‘ i g = = ANY CONDITION UNDER AS.D. DESIGN PRESSURE ACHINE SCREW
i | i FASTENE| " 3 h @ | RATING OF 40psf & FOR CONDITIONS W/ A.S.D. FULLY EMBEDDED
i | | HLY'S; e : - & — DESIGH PRESSURE RATING BETWEEN 4Cpst T0 NTO' ANCHOR
i | ‘ I {1 @ o5 @ 3 - S0paf SEE TABLE 1 & USE (1) S/mtexd 1/4° R
! ! i ! T T B CALK~IN_* ANCHOR AT CENIER OF
2 i i H o ©° It —~— SI0E FOR GREATER A.S.0. DESIGN PRESSURE
astinG | i 1 | sz ! L (@) RATING AND SPAN_CONDITIONS.
3 ouss i | ! s OR H | " - on@ FOR INSTALLATIONS INTO HEADERS USE
g i 1 ! v i) is i s L ey (2) 1/4"#x3/4" TEK SCREW EACH SIDE.
3= i | e Exsti e | i b L
s i [h— i i it - - ¥ 1/4* 0-20 OR_3/0" §-16 MACHINE SCREWS USED JOINTLY
L T " H— ' ) 00 85 s st 0% T el R TR
g; ! : : | 5 :: E‘“‘*“r-‘—@ g,l? W/ 7/8"x3/32" VNG NUT TNE m;:wvms ARE REMOVED, (SEE DET. A).
¥ i | | 1 I | or
s A 1. 4 s fQl | . A—
Ew I i N i ' SHEET 8 OF 14 ‘T——'“"T\@ @ SECTION S - S (FOR REMOVABLE STORM BAR L — S;IE)I;!#AE,I(AR
Il SEPARATION 10 GLASS | | 1 i | SCALE : N.T.S.
Eg I SEE SCHEOULE ON ; @ I I | i . . . BT t) it HEIGHT
H i oF 14 1l f¥H | ( )03 @@ @ POURED CONCREIE W/  —1"—j—1"— e R S T o
Fi | 1] (- oRr 4" Min, THICKNESS . b T "
= 1} I I 1 . kbl 40.0 =0 7 =2
Euw il | | | | 4 T T T (BEYOND) (f'c=3000 psi Kin.) 3 o L iy
= 1L I K @ :: s i I } } gERqF:ONCRETE BLOCK 5-0 5 -9
3 I [ — i D. v g S
: O @@ N T s SN W) L A : Shid el = i
i T H T :/ A f_ﬁ,_,L____J 1 ; coce cr_/ —r e =g =
il (BEYOND) f [ A T
| 1 I I WALL -0
I : ! ‘ 1 = R J,....-‘r GR z i “(Max.Ja1 /47 (Mn)hO + I/ZE T §0.0 70" =g
i | I ! il ' A i MINUM ANGLE AT EA. SIDE W/ j (@) 1/4%x3/4" =5 5"
l: 1 1 (— I : | | (2) 3/8 4 KWIK BOLT TZ ANCHORS TEK SCREW 5" EEY
i | ) ] ‘\® OR I L”‘J’/® @ T0 POURED CONCRETE OR as EACH SIDE e rie=
i | i| B i It | I (2) 3/8' POWER BOLT ANCHORS 70.0 il R
i i i | i il s o i i TO CONCRETE GLOCK .? 50 3=
" T — 1 | P o8 I=g p s
i | i —a" e it b,
i i ilial ‘%aﬁ @ ] T o @"R@ e oo LT o
2.000°__|l il I / -~ B e . ; e TN A S
e A 1 i A S SR - SECTION Si - St congammen o AL ooy G =
! — ! ) H Z PR T ™ @/ e e T SCALE t . T S, @0}? {z) 3/ wons sor @A&QHQRS\S_\ 9L R
H | i | [ EoE 4 sl T 3
i I i 1 FOURED CONCRETE W/ < | v ! | _A,@ . . e (4) 3/8" POWER suu} AlEHaRS
A - 1 | | S 4 Win. THCIIESS REQD Ll be [/ lo ol o e o concrere plock § & Roxr ﬁ&g‘
= S e T P S 7% ?ﬁ‘i“:‘F%‘)t"?ﬂcm‘-ﬁ
n o ol|llo o ; | F ' I \©@ ' ‘ : '1}4“’
& O, P sy A L T || L L - S §
g ”
! {2) 3/8% KWK BOLT TZ ANCHORS : h & /En' /] : ? T T ’0 T FLU“\
4 / /A /’ / {51 /e POWER BOLT aCHORS ! T 1 eouren 3 / / o o ! . PR Rk e | .‘-‘ Y i
e / Z / Ve ) e 3 o o ! ] ‘\ RONCITE W/ 'g yd 4 @ 12 % L "" ‘EQSlQ“ :
POURED CONCRETE W/ FOR 1/4"3 TAPCON ANCHOR 000" Ni (23 T e g TR SORNG, 0 Leglgad Fdmmcss Rga'D _ "ﬁ 3 ELEW\TION{J_\E 2k (““" )"'/‘ 4HOLE Chrsaasysit
D KNEas Riq'p O 1/4%8 CALKIN ANCHORS / i K4 S (m—.mm Pl Min.)| X—z“ 4"(Max)e1 /47 SCALE : N. I. S,
] 3 4" (Man.)x ;
(Fe=3000 pai Min.) FOR 3/8' CALK-IN ANCHORS ————4.500" mz . " POURED CONCRETE W/ @ ¥ CONT. ALUM. ANCLE FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
FOR 3/8" KWK BOLT TZ ANCHORS — 3,625 Mine 29”&9 T%?gfggg o /;f o B 4 Mn;o Q(TJHICKNESS) " e
(f'cw}éoﬂ psi Min) 3 (Q'RCT:GNCR-P?& a;_ﬂocu ””””””” -7 ©2011 TILTECO, INC. ASSA/4OFﬂm & B0mm BERTHA ROLL-UP Dmm:r.
CEILING & FLOOR MOUNTING: SECTION V-V (2 OR CONCRETE BLOCK REQ'D. — -
b 12/02/11
lNSTALL:JéOSNWUYéSK(ggEQFFE :ﬁéﬂ:;;sBLE STORM WALL MOUNTING INSTALLATION: SECTION V-V (1) BAR CONMEGTION 4 i!l- IE C O, \ |AMERICAN SHUTTER SYSTEMS ASSOC., INC. Aritd
T SeETON “> FOR ANGROR TYPE REQUWEN VW FIXED STORM BARS W/CONCRETE ANCHORS eSS & ENGIEERING COWPANY sy 250 MESTROADS ORE
{: 988 SeCTION 1% ?Sﬁsm‘:"?s! TR P SCALE : WIS, 5 ”mm;.':ms:‘«lg% ‘wutmigil”m Prene | (877) 993-2772 . fax : (561) 209-3350 I‘)RL‘;'INZGWE
Amﬂll -4 o
SINGLE SPAN SECTIONS AND DETALS SECTION V -V ® novpa | prscaencu ﬁ;ﬂ;j‘; I -E o] ||:°"‘
ARE SIMILAR TO ABOVE SHOWN WITHOUT T T T T P w,q_rm A nu,rr .Jr P.E 1 | oscaise /07/ SHEET 5 OF 1%
STORM BAR & HEADERS. ROA Lic. § 44167 P [ ! I | 1




\

EACH SIDE

- - ran ., " TAPCCH 1 1/2"%1 1/2%1/8" FOR INSTALLATICN WTO CONCRETE, . - =
POURED CONCRETE W,/ e i e s OR@ . Sforis e o USE (2) 1/4° TASCON ANCHOR AT m & |{“2 .:tlun:/it:éis W/
UR : / ; Aum. mcuz EA SIDE _ CENTER OF ANCLE EACH SIDE FOR =
5" Min, THCKNESS REQ'D / E i =t 1/2°— {1) 3/8% KWk BOLT TZ
{Fen000 ps Nin) 5 S i Y _1_3/4 ANY CONDMION UMDER A.S.D. DESIGN A O R e !
% S R TS %} So PRESSURE RATING CF 4Qpaf & FOR -1
e i ,-/ A / / e i | CONDITIONS #/ AS.0. DESIGN
A / / # / B o v { 5 PRESSURE RATING BETWEEN 40pst TO 5
A / 4" Min. THICKNESS REQ'D } i £ 8"
. i 80paf SEE TABLE 2 & USE (2) 3/8%
ot i 1 I'o=3000, sl i) A KWK BOLT T2 ANGHOR AT CENTER OF '|'
L B ANGLE EACH SIDE FOR GREATER AS.0.
i 1o o } DESIGN PRESSURE RATING AND SPAH p
I g SRS, i OR® 1 [ X CONDITIGNS, FOR INSTALLATION INTO 8
o i * | ‘ b HEADERS USE @) 1/46/ 4 K 7 L 1A
i T 1 i \ | 1 =3 SCREWS EACH SIDE. T /I/ / / /
, s s f L \ f (2) 1/4"8x3/4" TER
it | i | 4 f
h i ] g 1 ! ! .’4.; SCREW AT EACH SICE. e [_(2) /s T
i | ! \ - 4 | L FOR CXES n oF S ~E SCREWS AT EACH SIDE.
I 1 i L ; N " SECTIONS-S (FDR FIXED STORM BAR) SECTION 82 - §2
1 I ~. e A b VAN e "D
n | I e A1 OPTIONAL SCALE : M.T.S.
u | I P SCALE : NT.S.
I i 1 1 FoR caSES
I__2000m__J1 1 = . W/OUT HEADER | /2% e FOR INSTALLATION INTO CONCRETE,
= i i ASTEN us USE (2) 1/4"ax7/8" CALK-IN +
e i ortiaNaL oLy o O e eaane / AMCHOR AT CENTER OF ANGLE EACH SIDE FOR
i | | o a i Nl ANY CONDITION UNDER AS.D. DESIGN PRESSURE MMACHINE SCREW
i : : < @ @ ! RATING OF 40psf & FOR CONDITIONS W/ AS.D. FULLY EMBEDDED
i H H — * iy DESIGN PRESSURE RATING BETWEEN 40gsf TO NTO - ANCHOR
I I ! i i @ ey @ B 80pst SEE TABLE 2 & USE
; S Q@D - 7 SR E T ——
1 1 ANCHOR il 4
- B B OF1G) - S ol o LT o
I 1§ 0:?@ SPM CGND!TION 3 IN: Il
gx f ! e i TR I.L_@.g Eﬂ@ HEADERS USE (2) 1/4°8x3/4" TEK SCREW EACH EEE—M-S
25 i i H pushe — i | 3 SIDE. -
é_ h [ m— : I it *_‘_i ki %k 1/4" 9-20 OR J,’a @=15 MACHINE SCREWS USED JOINTLY
- it f H H— I } [ 1 N . W/ 1/4" @ x 7/8° OR 3/8" 9 x | 1/4" CALK~IN ANCHORS
0 It | | i [ oR —] 2) 1/476-20 S5, WS RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS AT THE
Eo I d i : I ' or W/ 7/8"8x3/32" WING NUT TME STORM BARS ARE REMOVED. (SEE DET, A).
&g } A 1] . L o(F) TABLE 2
2 it \ A | ; !
5: 1 ! - i : TR— SECTION S - S (FOR REMOVABLE STORM BAR) WA RSO, "L MAX.
g2 AL i i E Desion MAX. SLAT | s10RM BAR
z S e e ————1_._{) i ! AT IS ittt SPAN HEIGHT
EE j o seErs oF s o g : OR @ @ aﬁ@ POURED CONCRETE W/ —"—f—1"—| e el o] o SATNG(p.2.) o
1 ik 4" bin, THICKHESS ! .
§§ 1| | \ ,‘__h'f - 5 (BEYaND) (f ©=3000 psi Min.) i i 40.0 =0
Bu L : @ ! [ OR CONCRETE BLOCK i i 50"
4 | ! REQ'D. / s H :
3 p—— | | /
E sy \ T — L | oR _/ T T 50.0
3 i I i @ } (eEvoND) ! ! £gE O = I T
fl An5h :
I | : ‘——@ 0»? 26" (MaxJe /4 Min 0 -6% ) & 0.0
I 1R = || ALUMINUM ANGLE AT En. SIDE W/ =" W
I " | i (2) 3/8% Kilk BOLT TZ ANCHCRS 5 /4703747
\ i !/@ @ T0 POURED CONCRETE OR ik Lorew
} : [ (2) /8% POWER BALT ANCHORS 70.0
U i

@ @ae@ TQ CONCRETE BLOCK Jiex
(EEYOND) @ORCD 80.0

_________ B VILLEGE L
I - a4 e S~ SECTION S1 - 81 coNCENTATON 07 ot B, VILLIT] %
i = . ? “-’\T SCALE : N. T. 8. @OR@—\ i (3) 3/8"% rwi BoLT, %, ' cns.--- “’%‘ =,
- } i | | Jo phusen CONCRETE, “CNS E 3 s
- “. " [ 3/8" POVE] =
‘ L@@ weeny |/ SR it
e i

i -
SHOWN ON SECTION S-S5 [, 1/ 374" TARCON & ‘EW‘S

i.__2.000"___|
1 Min.

i

i

s PCURED CONCRETE W/
4" in, THICKNESS REQ'D
('c=3000 psi Min.)

Tﬁ'}ﬂ -
)
o
o
[+]

i
i
I i
: : I}\\@ ! ~
g 2'15"(““.)“/4'()‘&1’.'):10'-6' ALUMINUM il ! :r :5 s 1 or ® = i ‘+ &W ﬂ‘:? v
{ . s {2) 3/8% Ko EQLT T2 MNCHORS TO 8 ! n pr . ; T T T T -Tﬁ’ vc‘itk
3 1 FoR L. LoiDS COUBINATION O | ) P / 4 o O ! 12% S NI N PR3, O | PR I [
/ /1 {2) 3(E» FONER BOLT ANCioRS ! I CW:REE Wt / 7 @ ii g ’
. CNCRETE BLOCK FOR Asn nssmu | i ~. hin. k / VATIO 2°x5"(Mon.)u1 /4" E
POURED CONCRETE W/ FOR 1/4°% TAPCON ANCHORS —— PRESSURE RATING UP TO i H fadness nco | -Iﬁ ’ ELE N CONT. ALUM. ANGLE O
&' Min, THICKNESS RECQ'D ~ OR 1/4'0 CALK-IN ANCHORS g?nm “ox3/a" TEK scnsws m smm. : T T 1 ) | (e=3000 gai Win.) \/\\-«-z 5_“‘ e NE TS b ”. s
J QM = X ax. )% SELINE
(fe=3000 psi Min) FOR 3/8 CALK~I ANCHORS —— L e ’POURED CONCRETE W/ @ 57 i AL AeLE FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
FOR 3/8"% KWIK BOLT T2 ANCHORS——— POURED CONGRETE W/ DNV ,f 4f‘ MsnooLH»CK,NE?S) - T
?:Em TH[C“‘NESE) - EJRETJOI‘-CR SF‘I BIL%CK S s . @ 2011 TILTECO, INC. ASSA/4Gmm & B0mm BERTHA ROLL-UP Dﬂ\'l}!‘g\f
CEILING & FLOOR MOUNTING: SECTION V-V (2) 08 CONCRETE BLOCK o REQ'D. OPTIONAL STORM -
DEHONAL W L 12/07/11
INSTALLATION W/ FIXED OR REMOVABLESTORM. s | MOUNTING INSTALLATION: SECTION V-V (1) BAR CONNECTION liLleco AMERICAN SHUTTER SYSTEMS ASSOC., INC.| 7
BARS W/CONCRETE ANCHORS SARLUNNELTIRAY INc.
{m‘—"""""—_'—smu “3% FOR ANGHOR TYPE REQUIREMENT) W/ FIXED STORM BARS W/CONCRETE ANCHORS, TILLIT TESTING & EWGINEERING COMFANY wESr‘fﬁﬁ“ﬂﬁf“&“?ﬁ,
SCALE & N.T.S. SCALE : NS, o et "‘,af?’@gn ] (fo‘?ﬂ%niu?:"mﬁ Pona : (877) 983-2772 . Fax : (561) 203-8380 ;;A;iﬁ
£ email: o [ ) oare | v e | escwenen | oM
.EHNEGLSE.M\S;A{'IED'EES\E? AR SECTIONV -V r;qm"’%EE?‘i PE | B o 0 =120 5 SHEET 5A OF 14
TORM BAR & HEMCERS. R ——— FLOR\DA Lie f 44167 3 3




2" x 2" % 1/8" STORM _FOR INSTALLATIOM IMTO CONCRETE, USE (2) 11/2%0 1/2%1 /8% —
1/4% x | 374" TARCON 1/4% x | 3/4" TAPCON e —1 /T BAR DEPTH Alum. ANGLE 1/4"a TAPCON ANCHORS EA. SIDE 0'-4" ALUM, ANGLE W/
POURED CONCRETE W/ HoR 12 o I‘wcrmﬁs 812" o.C ; . EACH SIDE FOR ANY CONDITIONS UNOER AS.D. DESIGN (1) 3/8% KWIK BOLT TZ
5" Min. THICKNESS AEQ'D & & i e - =3/ 4"+ 3f 47 b PRESSURE RATING OF 40 psf & FOR AS.. ANCHCR AT EACH SIDE.
{'s=3000 psi Min.) ]/_ B DESIGN PRESSURE RATING BETWEEN 40 & 80
2 g ——| = psf USE CANDITIONS SHOWH ON TABLE 4 &
S o L o & e - USE (2) 3/8" KWIK BOLT TZ ANCHORS EACH 1 1 /7
gy INRED CONCRETE WA I l—_'C} é SIE FOR ANY A.S.0. DESIGN PRESSURE 1"},.-’ "J/T‘_ / /
{Fe=3000 pel Hin.) ; X RATING AND SPAH COMDITIONS,
/ Y FOR INSTALLATION AT HEADERS USE [ || I
5 3) 3/8'd~16 S.S, MACHINE SCREWS AT
i o ! i L_©% %"\@ ACH 'SIDE. 0
aﬁ@ d - / T8 3 ]
\ - == % £
: p
e 7 (2) 3/8% S5, / abirtd 1 s B
W o e # @ THRU BOLTS W/ NUT o =
/ //// 2 " dron cases or Wit '“1"‘-' l_(zéazée; sgﬁl_mﬁu
{ P | A SECTION S - S (FOR FIXED STORM BAR) 8¢ LTS W/
g |7 - e FOR INSTALLATION INTQ CONCRETE SECTION 222
2 L For cases i i 2R FASTEN Py 2w 2% o 1/8" SToRM / Use @) 1/1% o 7/ cac-ni SCAE ¢ IS,
A W/OUT HEADER i g% ONLY @ | Bt DEPTH Aum. ANCLE ANCHORS EA. SIDE FOR ANY ggwgﬂms
; 1 T l3/4m s H (NGER As.0; OESION PRESSU
5, 1 i 1 H@ 0 o R OF 40 psf. & FOR ASD. DESIGN
OPTIONAL i | 1 fo) b — PRESSURE RATING BETIEEN 40 & 80
O
FASTENERS, n i i D@ 3% 3 {- paf USe EGHAMGNS it Sk on
ONLY @ (2) I 000 ) \ T - 4.8 Ust (2) 3/a% x | 173
:‘ i | | H TAP EXISTING c.-u.x —INS? ANCHORS EA SIDE FOR ANY
: RO ; RN e B e
a | i | ! i ! SPAN I
E i @ . i | kel MACHINE SCREW L ; | @ AT HEADERS USE (2) 3/8"9-16 8.8
z &8 o (¢ i ¥ 1 | ) Y MACHNE SCRENS AT EACH SIDE.  PachiME SEREM . DETAILA  “ANCHOR
g, moEsNG o eusig f s IM '\" - : INTO ANCHOR SCAE : NT5.
i; :EETHR:ADE/INCH GLAss I } ! i @ \ﬁ(z) 3/8"% s, 1% 14" 5=20 OR 3/8" 0-16 MACHINE SCREWS USED JONTLY
E MACHINE SCREN' il i j | I THRU BOLTS W/ NUT ' W/ 1/4% @ x 7/8" OR 3/8" & x 1 1/4" CALK~IN ANCHORS
u? (re) i | i 1'—_*_1_®m | RESPECTIVELY SHALL EE LEFT TOGETHER W/ ANCHORS AT
o }: H s ! SECTION S - S (FOR REMOVABLE STORM BAR | THE NWE STORM BARS ARE REMOVED. (SEE DET. A).
%
E: ‘ ssmmnnrgu&uss ! I : GCALE : NS, TABLE 3 o TABLE 4
Fer . AU o
& '\@ ON SHEET 8 CF 14 | T\i D e e O MAX, SLAT | ol MAX. B Ak ST | e W
3 i A I I i\ >-(x) @) retBho g n) pressone | “spay | STORM Bar | | RERNE | seN | pigr
. w * 8.1, =
g% d* OM SHEET 9 OF 14 \@GR : [\{ g e e r e B i 1" lisfead) Too" er T B 30" 1 |
| i = i .
M I gE @ @OR@ 7 g = T 40.0 40
Ew u | i/ - / 550 £-0 : 9 g
&% i zco0r ! : | (eevonn) p ' g.‘g,r T "
= 1 Min. | 1 o = =
: r—/\ @ @"R @ H I | i d il 30 TT=3" 2
g T e | i ! i o T 50.0 :
il ! ey ! {BEYOND) n i il ,X@ 70.0 =g T 5
i: i I [l 1l ! ! | I 2°%5"(Max.Jx1 /4 °(Min.)x0" 62 ] EDGELOF i =Tl 30
i | I | 1 il == il I ALUMINUM ANGLE AT EA SIDE W/ WAL 35 10" §0.0 +-0
o N— Y LR A R D ey o
i | ! ! ' og i ! I (2) 3/8% POWER BOLT ANCHORS 80.0 50" 9'-2" ]
i ! b “\E . ! i O CONCRETE BLOCK T 75 70.0 =
| o o 5-0
i re—i'l | || | \® . el | | oy 5
| ] | | oR L_(4) 1/4"% s5. 3'-0
h | | T‘L‘Tk@ —Iril! | @ Ru’BaLTS a0.0 pu
| k=l | 50 T 5 e
:rrzmo“ ; ) ‘t " / / , /ﬁfum A, T SECTION S 31 50
I Min. y < 5
| I I | I 3 ! CONCENTRATION CF
L Xl L 1 PD»JRE(! ‘CONCRETE W/ D |..J & 3/B"8 KWIK BOLT TZ ANCHORS
i I [t iR i 4% M, THCKNESS REQ'D 2 ; O e o Eae o W Lt
| i i
! s |l sl s s 5 (F'c=3000 pai Min.) | A et 12" e 18 (6) 3/8"¢ POWER BOLT ANCHORS ,r ™ 'HLL]]'
" |1 - . ALUM, ANGLE EACH SIDE AS Io CONCRETE BLOCK 8 &° 00 4T (LT, ...
i ag 2" x B x 1/4° !)Q/ﬁ M. N‘G'-Er / SHOWN Ol SECTION -5 STORM BAR LOCATION AND Rﬁ#c {\
| L 1o o EACH SIDE W/ (2) 3/8"a POWER BOLI H 1/4"1 3/4" TAPCON @ 127
‘ o o e ANCHORS m/céwcnns BLOCK WALL F | / : [ 3/ &
r‘—l il #NY CONDITIONS UNDER AS.0. DESIGN ¥
o RATING OF 55 paf. & FCR & P o
T i L Ll |
TWEEN 55 & paf T R N T2 g
/// v / L >4 / SHDWN ON TASLE 3 & :// I POURED : -
I | | B npm AN Bl
FOURED CONCRE ANY A , ]
POURED CONCRETE W/ *# TAPCON ANCHORS ————3.000" Min. Lo Mn
57 Hin, THCKNESS REQD EOR ALE EEN IRELeEE 'W mﬁg#&:zsssgu(ﬁﬂ E’}‘l"f é";n f,f:ﬁ‘ ¢J \, THCHiESS REQD al -_,.____2' B A SCALE : W, T. 5. F1LORW
(fe=3000 B M) L /8% CALK-IN ANCHORS —] 4.500° Nin COLTS TO STORM £AR Y s 1 - g Gon. . ol FLORIDA BUILDING CODE (High Velocity Hurrﬁione' Zme
L i Sl .* FOURED CONCRETE W/ QI Ia g
FOR3/W AR AOLT: T2 pHE oS em A Ja M e arele W 4 bin D{]ﬂlCKﬂssj‘—-_/ 7 A ©2011 TurECO, WC. ASSA/40mm & 60mm BERTHA ROLL-UP|™ ﬁ?;“;",jﬁu
CEILING & FLOOR MOUNTING: SEGTION V-V (2) (3000 o bing o T ey T 7 7L
INSTALLATION Wi FIXED OR_REMOVABLE STORM ReQD, / liLlIEco \ AMERIGAN SHUTTER SYSTEMS ASSOG, ING| 127771
BARS W/CONCRETE ANCHORS WALL MOUNTING INSTALLATION: SECTION V-V(1 OPTIONAL STORM a et :snc‘a;mw 4263 WESTROADS CRVE
(S22 SECTION '5° FOR ANCHOR TP REQUIREMENT) W/ FIXED STORN BARS W/CONCRETE ANCHORS BAR CONNECTION GE';;’-,'JW Tzﬁtﬂé",i’ .*.u:'m:‘“"“:.":fiﬁ' B sias prece JEST PAM BEACH, L SMOT 11-210
SCALE : N.T.S. 2 e e o, - r W
SCALE @ N.TS SCALE : NT.5. e-moait:_tilkecoBeol.com e e TN T T DRAWING Ho
swem s,_i‘;" s:cnnNEs éggwﬁz\;ﬂmw EB-0006719 - EOE ST 2 | +
0 ABGVI - & 1 -
51GRH BAR & HEADERS. w IVALTE"‘ :«L’Tc‘l-ug ;15“:7 . g 1 SHEET 58 OF 1

Sessazret

s,



F-z %3 (Mox.)x1 /8" ~2 x4 (Mox. )11 /8"

q] _Elj |

34"

e 3

Typ. Typ.
|

_Q f

=0

1/2°%1 /8" A

STORM BAR DEPTH Alum.

SECTION 83 - 83

SCALE ; WIS,

3/4°

Typ. _ Tvp

\Luss (2) 1/4%6x3/4"
TR

SCREWS EA. SIDE.

"kl 1/2" x| 8

%
b
CL—
LI,

e

i

Q
st

1=0@)
ZEJO

2 S ORM BAR DI
Alum. ANGLE EACH SiDE

e

USE 5/8"% KWiK BOLT T2 TO
POURED COHCRETE OR
3/8% POWER BOLTS TO
CONCRETE BLOCK

STORM BARS LOCATION
(SEE CASE 1 & 1)

(2) 3/8"%-16x1" S5 MACHINE
CREWS AT EACH ANGLE

~{2) 3/8% S.5. THRU

EOLTS W/ NUT

SECTION 83 - 83

SCALE : NT.S,

o

- \

_lj/

@O® or

( ) WHEN APPLICABLE

1 1/2"x1 1/2%1/8" STORM

BAR DEFTH Alum, ANGLE

(SEE SECTION 53 ~ S3 AS APPLICABLE)

2"%7"(Max.)x1 /4" Cont.
T.u.uumuu ANGLE (CASE 1)

7,
"'":\-H'I 2201,
i

-]

L

-

P . °
A T IR

“—L4'4L4‘J74'J—+'L¢'Lv 127 \ 12
2"¢6"e1 /4" Cont. ALUMINUM TUEBE
& 27a3(Min,)x1 /47 ALUM. ANGLE

@ 12"

ELEVAT!ONgg \

SCALE @ NTS.

Cent. Alum. TUEE W/ . N Cent. Mum. TUBE W/
A e 378 Teecin 1/4 953/4 TEX SCREWS 1/4'8x1 3747 TAPCOR /.\,’4 wx3/4" TEK SCREWS
4 ANCHORS @ 12" oc. 9 127 Q.G TO TuBE | ANCHORS @ 12" 0C. [/ @ 127 O, T0 TUBE
N | L / N \;] u
%, i aalf ; =
, 1 f@‘”@ - %/ P ™ ROLG
77 ~ 7 0 ey
s y ) :
o concee ’/ e B ! = Pm/.qzop/{// Q 2 ey .
i3 s /] v~y g %ﬁm/f' L4 = 7 -
P |SJ!] Ir_‘ S ¥ " / A <5 P . P |- oPTianaL
’ ’ s > — s /| il —— 11271
7/// // //////| i i y 4 FOR CASES /// // ////l H !j [ e ANGLE EACH SIDE
2 d i ( Fa — A __wsour veroer L 4 f i VA WrOUTHEADER
L—rj | E I 1 \voanoml. L’r”l l g ‘i/;aﬁ.';m;@
” ‘E T | Zﬁ‘\fmmv ” , I | Rl | : @
l ak Il ;
n R eeo | R o] @@
”——-‘z 000 Mim--i——“ | = i ”:J :)R @ :;:——*2‘[](5- - } | I I
I | LI I || i |
I || ~——g ]l I —
" B e SGIOR N N I —®@
exsnng —| t ‘ ‘ Il L_.-"'_’_— ‘T‘
dLass 0 [ I | | [ CR@
1 | | | \ I | Y
I I I L)
H—_FCR ﬁfzgsg{w::néﬁ m—\®m ” = 15&?;% ﬁg ﬁf I : | | o (3]
L e YT meeo
>
; | | ) ! Ll ’\F |
L ) (or(ir)
A
1 1 l \/\ 1 L/ \ e BULD-QUT TUBE I | -/ [ V i (BEroug)
1 (BEYOND) I
H | | e LJ;@M@ :‘r——Azuuo Mm_*J——| 1l |
It 2.000% Min.—
e iL*l I8 : T @@
Il : " 0.C. AT
Bun-ouT TUgE - | | | | | i {&@ ® % o4t
i il (I @)
It &
A p AL as 2 i
WA o e el & T
Eu P A | = ag
- g éﬁ_ﬁ/; 7 _“\ E /{/I (CASE 1 ONLY)
£ £ - et b
= \
v q / 2%7"{Max.Jx1 /4" CONT, ALUMINUM ANGLE \ i et /4 Cont. AL AGLE W/
i :’aé@;«#ﬁfgg 3’!‘{}?“?;? uliwicaou b o rf:g:zecszggg:gog ?F’:EIAZ} E/Jcoxl‘rl érﬂo "
FOURED CONCRETE W/, 3 ”;,?,%Rf"f,ﬁm AR - FOURED CONCRETE W/., R LOCATION, REST & 12" 0.
4 MIN, THOKNESS 7 R WCWS it 47 MIN, THICKNESS .
('e=3000 pai Min.) £ (e300 pal bin) 25 la 14" CONT, AN TUGE 1/
OR CONGRETE BLOCK < /] (SEE ELEVATION ). CONCRETE BLCCK /A 174" TAPCOM ANCHORS. @ 12" 0.
REQUIRED. z, i A eSS ? roalsr;:m BARS(E) &(F, wO/ I.%ON:EESITRAHOE\I oF
T R @ o sas 1o Cowcnete sk
CASE I v’ B @ 4" 0.C. AT STORM BARS LOCATION
FOR STORM BAR (FI) W/ CONCENTRATICN OF

{3) 3/8" kwik GOLT T2 10 POURED CONCRETE
OR (7) 3/8"a POWER BOLTS TO CﬂNCﬁEl‘E 3LacK
@ 4" OC. AT STORM BARS LOCA

(SEE ELEVATION X).

CASE I

FIXED STORM BAR CONNECTION AT BUILD-QUT
INSTALLATIONS W/SHEET METAL SCREWS OR MACHINE SCREWS

SCALE : N.TS.

SECTION V-V (3)

NOTE:

SINGLE SPAN_SECTIONS AND DETALS

ARE_SIMILAR TO AEQVE SHOWN wiTHOUT
‘| STOGRM BJR & HEADERS.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

12*

1/4"0x1 3/4" TAPCON ANCHORS —

0. (TYP. AT EACH SIDE)

©2011 TLTECO, INC.

ASSA/40mm & 60mm BERTHA ROLL-UP

CRAWN BY:
LG./AG

/ rL[ECO iHe. \

TILLII I'EST[NG Jﬂ ENGINEERING COMPANY
€355 M. le. 305, 66

A
(Jus)m ~1530". Fas (ms)a:n-!ss*

AMERICAN SHUTTER SYSTEMS ASSOC., INC.

4255 WESTROADS DRIVE
, fL. 33407
Phane & (E??J 9!5—2772 Fdx :

12/07/11
DATE

(s81) 203-8180 11—210

DRAWING Ne

e=mail:
EH-U(JU 6719
. TILUT .lr P.E

FLUNIGD\ Lic. 4 44167

T

v, 0 Tescari [ AT
] 0LD 03~ 158 PEEZEE |
| T S

1

SHEET 6 OF 14

VEER %

¥
3¢
ot
i

“eraggpprirttt

,



— 2" % MULLION'S DEPTH x 1/8" Cont.

\‘H_" x 1 3747 TRCON ‘/z:b;;n:ﬂ TAPCON
{vfa«:ms LR s | ALUMINUM TUBE W/ 2%2"x1/8°0'~2"
r_!/‘,. . - I i 7/ . %UM\?UM N:l,GLE TO MULLION W/
T , ’ » ; i ] 221 /40" 8" Alum.—, ] ) 1/478x3/4° TEK SCREWS EA. LEG.
Mﬂ} L e e SORITE— 1l ¢ N OLE Eh SEE WS N % l {rvp ToR/B0TTON)
4 Z s . w6\ LN . (@) 3/8% Kwik 8OLT TZ ?
i Pl . it nEaD \%{ [ 70 POURED CONGRETE
(A ’ﬁ ! (Vor @) Yo ' Ao VALL (4 i D8] s
X 4 & (1) 3/8" SS. THRU '+ ‘
I y 7 S 2 ENC AT roR"“ =1 ° ol ,—@GR@
112 a1 1/2t ek i Y # aiy Loa0 comamon. | Al
Jogssr @or@ — AT
L ) W,
(B 7% e | J /kﬂ Puke {
Crmi SLA?BOLR % 9 I
o A | e s > fi
(Typ. TP & soTToM) || VAN ) 4 L‘"‘ x@@@@“@ g i
] I —EHD@an@D A \\ i, b
z | = « 3 % ;‘]x ; x 1/4" « 0°-8" Aum. ANGLE W/ |
] S 2 'I 4] 1/4" THRU BOLT THRU HEADER & ANGLES, NO HEADER & STORM BAR ALLOWED.
5 @WEE ;i % o S e ;“./.(Efs,' ;,“‘-""mfﬁgi;.‘,ﬁ;” ) 77 gﬁ(g /8% KB BOLT T2 ANCHORS To 1ol I JUST SAUT ROLL UP MULLIONS. &
H 2 HEADER & 1/2° WK BoLT S T0 FCLRED 2 b L[4 b THCR) L7 | TRACKS W/ FACE MOUNT.
i (d—  USE 2" x 77 x 1/4° Aum. ANGLES FOR CASES Wia,
2 . CONCRETE WAL (6" i, TRy W 3 BULD-0UF TUBE. 1 !
% h uz " (ONLY FOR  W-W(2)) ] |
S
: = @OOD-® L N eeoce-@
8 eusmo—) SR A ALTERNATIVE 3 . ]
fallEoUCM aiil AN EXISTING | |
2 o A . oLAsS \-{:) or
& I $x 35 38 Q-5 (E041TA B 005T3 ML) ALTERNATIVE 1 WALL MOUNTING : SECTION W-W(3 b @ ®
2 Adarn. ANCLE FOR SINGLE 82AN HEACERS e e SCALE : 1/8° = 1" I | ool
8 Lr_-—l\‘,_.J_. PR x;/a‘g';e’m{“n:é_m OR 8005~T5 ﬂ.&.ﬁ'ﬁl WALL MOUNTING : SECTION W-W (3 8
g i e L e 2 7 N R A
1 I HEADERS & (2) 1/2 S5, THRY GGLTS W/ @0}?@\ % - [/ 1/48x3/4" TEK SCREWS ® 12° C.C.
Fl i 7/8°0.0.x3/32° THICK WASHER AT MULTIPLE SPan HEADERS. @ @ @ @ @ SEE_NOTE 1 o ol !
2 (A1 /87 ALUML TUBE W/ 27271 /8" AUM. ANGLE 08| | |-2% « 2 « 1/4" % 0'~6" Mum, ANGLE EA, SIDE W/
GALRRAN 4 08 /4 td [ﬂ T SIDE B W/ (3). 1/4°0 3747 TEX SERENS €A LEG (EXTENCED PASSED 0PENING) \ [ (2) 3/8% POWER BOLT ANCHORS TO CONGRETE
A { =4 i ELGEK WALL OR (2) 3,/8% KE'IIK BOLT TZ ANCHORS
RED . 10 POURED CONCRETE WAL (4" Min. THICK) &
®@°ﬁ \_“®@®@a~@ ucPN“:_:'lnm /‘ P (2) 3/2" THAU BOLTS THAU MULLION AND AHGLES.
(2) 1/2° 5.5. THRU BOLTS i >, |
| b (hm. ToP & BATTCH) LR / Lo [j Oﬁ.@ |
E0] ’ L /
o o k ¥
=0 et
9 ; o
”
v L 4!/ L /// o @ ’,;1; d oy don. o SWISTING WALL MAY BE POURED CONGRETE OR CONCRETE BLOCK FOR ASD. DESKGN
e 7 4 3 o a2 3725 K B0LT 12 PRESSURE RATING UP TO £0.0 paf W/ 8'~0" Mo, NULLION HEIGHT AND 5'-D" Max.
ANCHORS TO POURED' CONGRETE MULLION SPACING. SHALL BE 4" Min, THICK POURED CONCRETE FOR GREATER LOADS.

FLOCR/CEILING MOUNTING : S R ’
x & '3 (608118 OR 6005-Ta ALLOY) A 5
SECTION WAW (1), WO HEADER 4 ””T,{‘I‘;‘m {,Ef,) T ELEVATION /X2 ALIORS 3223"'] ,‘E.SF?T'O“ RN

SECTION W-W (2), W/HEADER

SCALE : 1/8" = 1

\JL“®@®@‘”@ TYPICAL HEADER CONNECTION AT ENDS: —
Tl i,

|

|

i |

s ] % w/ 8" Min. K |

?ﬁﬁ'mﬁfj'—y ol i ;‘% Lo Tl BHO@=@) L . -ﬁ\! @%@
! WALL MOUNTING : MULLION CONNECTION,
=8 AT TOP & BOTTOM : SECTIONWW()
s

SCALE : 1/8" = 1* =4
i ALTERNATIVE 2 SECTIONWW - i'%\p‘ ‘I!LU,
USE (j}) HEADER GNLY FOR SINGLE SPAN WALL MOUQATL'ENEBI :,fE_,GT.ION WA " 4

INSTALLATIONS, IF MULTIPLE SPANS ARE NEEDED, THEN
USE DOUBLE E"JA%LUONS VI/3" GAP IN BETWEEN THEM
: NOTE:
SELVES FOR A RIVDUN Pt INSTALLATION DETAILS SHOWN ON ALTERMATIVES | & 2 ARE VALID FOR STORM BAR HEICH
4D SINGLE HEADER SPAN CONDITIONS FOR AS.D. DESIGN PRESSURE RATING UP TO 120 et

(rhor @)——

5 “oe SO BN ;.1"

120
©® sz sitt?
. -
O@e@) -
Tz FLORIDA BUILDING GODE (High Velocity Hurricane Zone)
3% x 37 ALUMINUM ANGLE < i —t ——
©2011 TLTECO, INC. 2] - '
|- OO ASSA/40mm & 60mm BERTHA ROLL-UP| 5% o
A / E AMERICAN SHUTTER SYSTEMS ASSOC,, ING,| 1270711
MTON Ao IIL IE € O ine. R e o DATE
& ELEVATI N LT TESTING & ENGINEERING COMPANT 4268 WESTADADS |
ELEVATION X\ Soug /8" = 1° MR 1 R e 7 S s o s o 60y - 11-210
scAE ;18" = 1 TYPIGAL HEADER CONNECTION AT ENDS: mmai ecoses o T e e A T ] MG o
SECTION W-W brovi e At B PW"} o L seer 7 or 15




kSéREw Iy
T :’ LIARYEN

WooD &

HEADER
REQUIRED

el

EXISTING WINDOW

SEPARATION TO GLASS
SEE SCHEDULE

ON SHEET 8 QF

24" CONT.

150

Ea.
1/2" Min. THRB\DED

®

[ —0PTIONAL

=

=

14 1

SILL PLATE— =iy

REQUIRED ™.

TT-ROO
e @
i

L.
-
1" g 2"

‘i Alum, MGLE (8033—
1E o LG

SCREWS

F'é’NETRATION

\————WOgD,_ STUD

@ 24" 0. C. MAX
REQUIRED

T ALLOY)

12
] MIDWIDTH OF FLA €
142" Min. THREADED

-——t-2. DDD Min.~

2" x 4" W00 STUDS
REQUIRED @ CORNER
(TYPICAL)

3Jo,

i

Max

(Dyor{2)

SCALE : 3/8" = 1"

2" x 4" WOOQD STUDS REQUIRED

@ CORNER (TYPICAL)

2" x 2" x .125" Cont.

Alum. ANGLE (8063-T6 ALLOY)

1/4 ¢ LAG SCREWS
Min. THREADED

W/ 1172
FenerRaTioN 10 €4STING WOaD STUD.

1/4%8:3/4" TEK
SCREWS @ 6" o.c.

PLAN B _(SECTION)
INSIDE MOUNT

SCALE : 3/8° = 1"

=/

\ -
£
P
“
A A
o
It
1
S T
— | b
T 2 T s
T | (=31
/ a5 IR i
o o [FEQ--El
=
= T e
G Sep urh e /4|
Max

- o0 @@
@=®

NOTES;

;>!-!°

INSI’»;LL;\ﬂDsiS n;RE ONLY VALID FOR BUILDINGS WITH A.S.0. DESIGN PRESSURE RANNG
ps

FOR NEW FRAME consmucnnu woou MENBER TO BE SOUTHERN PINE Mo. 2 W/
SPECIFIC DENSITY O
MINIMUM  THREADED FENETRATION OF LAG SCREWS INTO WCOD MEMBER To BE 1 1/2°

THIS AFPROVAL INCLUDES INSTALLATION 1M WOOD FOR SING..E UNIE WITHOUT

STORM BARS, MULLIONS & HEADERS AS SHOWN IN THIS S

\1/4" 2LAG SCREWS @ 6" 0. C.
Wi/ 1 1/2" Min. THREADED
PENETRATICN TO EXISTING
WOOD STUD.

2" x 4" STUDS

W/IV%
/

-
r+1—2" x 4* wooD STUDS

e - REQUIRED & CORNER
| ] ¥ (TYPICAL)
N\ -
= oo s

W/ 1 1/2° Min. THREADED

FEMETRATION TO EXISTING
WOOD STUD.

T T

i)

i

1/4"9x3/4" TEK
SCREWS @ 6 o.c.

1"%3"x1/8", 2"x3" n/a
3"3'x1/8" OR 3'x4"%1/8"
CONT. BUILD-QUT TUBE.

l
e—— & \'5

SCALE : 3/8"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

= 1"

s 1/4" ¢ LAG SCREWS @ 6" 0. C.

it ,,nruu,_, s

aA T

a
l“tli

“trrpsertt??

AT

22001 TLIECO, ML ASSA/40mm & 80rmm BERTHA ROLL-UP Df’éw;.‘,‘:“
/7IIL I E c o - l AMERICAN SHUTTER SYSTEMS ASSOC,, INC. 124;2%”
TILLI s'nNG & ENGJNEERING COMPANY 4268 WESTROADS DRIVE
et c.ms)m-um kv (sns)m.f;sxu i w;?’r, ",’;’,;‘“Ji,ﬁ,?‘?';;x”“mﬁ’,“i;m 11=210

: DRAWING Mo

R
12/57/1 3]
L

SHEET 8 OF 14




SLAT PERFORMANCE CHART MAXIMUM A.8.D. DESIGN PRESSURE RATING

sf) AND

CORRESPONDING MAXIMUM SLAT SPAN "L" FOR TYPE 1 & 2 SLAT = GhL " = =
[ RN |
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) ] = a ==
=
r— a a s |
®) Q) . " gy
SLAT TYPE @
E 5] e
|
i MAXIMUM MINIMUM SEPARATION MAXIMUM MINIMUM SEPARATION i
 JuxioM 1 siar sPan O GLASS SLAT SPAN TO GLASS SINGLE SPAN MULTIPLE SPAN
RA?&EGSS(UR;E[- SINGLE & SINGLE & SINGLE & SINGLE & SINGLE & SINGLE & M
LA MULTIPLE MULTIPLE MULTIPLE MULTIFLE MULTIPLE MULTIPLE
UNIT ® UNIT + UNIT =+ UNIT * UNIT #+ UNIT ##+
40.0 §'-5" 4 3/8" 3 5/8" 4’2" 2 3/4" 2 3/4"
5.0 52" 4 31/2" PO 2 5/8" 2 5/8" “  SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF
T - - - : . BUILDING MEASURED AT BOTTOM OF SHUTTER.
50.0 5'-11 + 3 3/8 3-1" 2 5/8 2 5/8 MIMIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
= prapm a 3 38 e 2 12 RVS SE MEASURED FROM BACK OF SLAT TO GLASS.
r z 0 T n . #  MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN THE
£6.0 a7 u 3il/e B8 2 14 2 1 FIRST 30'~0" ELEVATION OF BUILDING AND MAXIMUM SPAN. SEE TABLE 1
65.0 5'-5" 4 3 1/4 35" 2 1/2" z 1/2" FOR Min. SEPARATION TO GLASS FOR SPANS LESS THAN THE Mox. ALLOWED.
; e s o R 0 7 #v MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 30'-0"
704 g4 ol 3 18 Cist Sk il ELEVATION OF EUILDING, MEASURED AT BOTTOM OF SHUTTER.
75.0 5'-2" 4 31/8" -3 2 3/8" 2 3/8"
80.0 51" 4" 3" 32" 2 3/8" 2 3/8"
85.0 5'-0" 4" 37 3-1" 2 /4" 2 1/4" I!B! E ],
900 JORPH 4 3 30" 2 174" 2 1/4"
25.0 —10" 4+ 3 211" 2 174" 2 174"
: “ .. : - o somm sLAT (A) 40mm SLAT (A1)
100.0 4'-g" 4 3 2'-10 2 1/4 2 1/4
1050 A il D SLAT SPAN (ft.) [MINIMUM SEPARATION TO GLASS SLAT SPAN (1) | MINIMUM SEPARATION TO GLASS
i i A fae 48" OR LESS 2 5/8" - 2 1/4"
115.0 -6 2 7/8" 2 7/8" _ 38" OR LESS /
1200 4'-5" 2 7/8" 2 7/8" > 48" TO 54" 2 7/8" > 38" TO 48" 2 5/8"
125.0 45" 2 7/8" 2 7/8" > 54" T0 74" 4" > 48" TO 50" 2 3/4"
130.0 44" 2 3/4" 2 3/4" =
135.0 43" 2 3/4" 2 34" > 74" 10 77" 4+ 3/8 ,mmm,,,,
140.0 43 2 3/4" 2 374"
145.0 4'=2" 2 3/4" 2 3/4"
150.0 P 2 3/4 2 3/4"
155.0 4'=1" 2 3/4" 2 3/4"
160.0 40" 2 5/8" 2 5/8"
165.0 4'-0" 2 5/8" 2 5/8"
1700 31" 2 5/8" 2 5/8"
75, DIPR 2 5/8" 2 5/8"
1750 g o /- FLORIDA BUILDING GODE (High Velociy-Hurriedh Zone)
180.0 3-1" 2 5/8" 2 5/8 -
CRAW i
e oy T PR ©2011 TurEco, we. ASSA/40mm & 60mm BERTHA ROLL-UP | SR &
1200 I 2 28 2 o liLleco AMERICAN SHUTTER SYSTEMS ASSOC,, ING.[  "2/701!
195.0 3'~9" 2 1/2" 2 L iNGc. B
TILLIT TESTING & ENGINEERING COMPANY mr‘?ﬁ?uwgiﬂm&.oﬁ%
g 'E%ﬁénlsa-ugoﬁ R (sac‘:ws-l‘gnm“ Prons : (877) 999-2772 . Fox : (581) 269-8380 11-210
’"“" s T T rion BATE_| A cechrnon | oMt DRAWROHE
A"'EL,SE_TD‘:“._E'_‘U; ;I;.LSP;.'E. : i 0 A1 54, I’f""’" : 1 i SHEET 8 OF 14




STORM BAR LOADING CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L"
FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE AMCHORS

®

STORM BAR SPACING SHALL BE SUCH

THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

e R © I T
PRESSURE % SIORM BAR SPACING * STORM BAR SPACING }k STORM BAR SPACING
e e [T # |#705 |5 106 61065 o4 |+m08 [sT06 |¢Toes|c3-0" | FT04 [+ T05 |5 T06 [¢TOES
40 OR LESY 7'-7" 71" §'-g" §'-2" 5'-11" 78" 6'-11" 6'—4" §'-1" 10'~0" | 9'-8" 8'-6" 7-9" 7'-5"
45 7'-5" &'-11" §'-4" s'-10" | 5-7" 7'-4" g'-7" &'-0" 5'-g" g'-11" | &-11" a'-0" 74" 7'-0"
50 7'-3" 8'-9" §'-0" 5'-6" 5'-4" 7'-0" §'-3" 5'-8" 5'-6" 9'-8" g-g" 7*-7" g-11" | g-g"
55 7'~0" 6'-5" 5'-g" §'~3" —_ 6'-8" 5'-8" 5'-6" — 9'-4" a'-1" 7’3" 67" .
60 6-11" 8'-2" 5'-6" 5'-0" — 8'-a" 5'-g" 5'—2' — g-1t" 7-9" 6'-11" 6'—4" =y
65 §'-9" 5'-11" 5'—4" +-10" — &'-1" 5'-5" 50" — g'-7" 7'-5" &'-8" 6'-1" -
70 6'~7" 5'-8" 5'-1" 4'-g" —_ 5-1" 53" 4'-10" s 8'~-3" 7'-2" 65" 5'~10" =
75 6'-4" §-§" =1 4-8" - 5'-5" 5'-1" 4-8" i g8'-0 g-11" | &'-2" 5'-&" i
80 8'-2" 5-4" +'-g" 414" - 5'-6" i & 7'-9" §'-9" 8'-0" 56" o
85 8'-0" s'-2" +'-8" +-3" — 54" 4" 44 = 7'-6" e-6" | g'-10" 5'—4" o
90 5-10" | 5-0" +-6" 4'-1" b 5'-2" +-g" +-3" i 7'-4" &-4" 58" 52" .
a5 5'-g" +-11" 4'-5" 40" =E 51" 4'-g" 41" o =1" g-2" 5'-8" 5'-0" -
100 5'-6" =5 =3 -1 = 4y-n" +-5" 4'=0" . g'-11" | &'-0" 5'-4" +=11" —
105 5'-5" 4'-8" #=2" 3-10" oo 4'-10" +-q" F-11" — 5 ~9" 5-10" | 5’3" =g i
110 53" 7" 41" - . 4'-8" 42" = — 6'-7" §~p® 51" s e
115 32" =5 0" p - =7 Frsery TR =5 57" 50" = =
120 5-0" 44" 3—11" - - +-g" 4'-0" B = & -4" 5-6" =11 = =
125 ¥-11" | 4-3" 310" = — -5 31" o = -2 54" S TER — _
130 +-10" 4-2" 3-g" = = 4 —4" ¥-10" = e 8=i" =5t 49" - .
135 F-gr =1 38" 3 8 43" 39" e i &'-0" 5=2" =7 - —
140 4-5" 4'—0" 37" 2l R 4'-2" 3'-g" = e 5'-10" 5'-1" 48" — .
145 ¥ 70 =7 = = porT =1 I8 - — 5g" 50" =y = = I,
150 ¥-6" = | 3-8 e -~ oy 0" 37 — — 5-8" TR IS i = ‘i.ﬁi\{:}?‘ A TJL(‘J;‘«;W
155 45 F-10" | 35" s i 4=7" -1’ 36" — — 57 &-10 ey = i W e, T
T80 ey T | -4 - — e | 3= | 3% e = ey T | 4-3 e = e\“ *%':" ﬂ%i‘%
185 4-3" - E o - 45" 3'-10" 35" 2y 2 5-5" 4-8" -2 — iz N Y= —7 e
170 ¥o3" I8 - = — IRV e — ES = Y =T T = = § * % §
175 =27 37" — - - 4'—4" 39" i s 7 5'-3" 4+-6" — — s ot . s N
180 ¥=1" 37 — e _ FOED g = = = 57 oy _ — — ::% " e a“‘\
185 =1’ T = g i povs 7 T o3 = G =5 - . — % R ) '\\;“"s‘
130 0" 3 =i & 2 4-1" 37" s — — =" -4" — = S5 = O
195 T | 35 T - — -1 3-8 — — — 50" 4" - B =

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

2011 TLTECO, INC. ASSA/40mm & &0mm BERTHA ROLL-UP ”f‘é‘_"’f’,‘_ﬂf
f MNMLIEC O wnc E AMERICAN SHUTTER SYSTEMS ASSOC,, ING.|  12707/11
TILLIT TESTING & ENCINEERING COMPANY 4288 WESTROADS CRIVE
5355 N, 36k, i, Sie. 303, VEGIGA GARDES, Fl. 33168 WEST PALM BEACH, FL. 33407 11-210
Frone : (303J871-1530 . Fax : (305)871-1531 Prone 1 (877) 999-2772 , Fax & {361} 209-8380
e-mail: tiltecoBacl.com DRAWING No
1555;0005}'19 5 1 DESCRPTION DATT
WAL L TILUT Jr. PE.
FLORDA Lic. § 15157 | { SREIgICioaes




STORM BAR LOADING CHART
MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s.1.) AND CORRESPONDING MAXIMUM SPAN "L
FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

MAXIMUN TYPE & STORM BAR TYPE 5 STORM BAR
AS.D. 2"« 4" x 250" (2) 2" & 4" x 250"
DESIGN
PRESSURE ES STORM Ba SPACING * STORM BAR SPAGING
RATING
(oaf) |<3-0" | 3104|4705 |5 706 |67065 )< ¥-0" | 3TO4 | 4 TOS
40 OR LESY 11'=10" | 11'-0" 10'-5" 9'-11" | 9'-g" 14'=1" 13-1" 12'-5"
45 16" 10'-8" 10'-1" 9'-8" g'-4" 13'-8" 12'-9" 12'-0"
50 12" 10'-5" 9'—10" =27 g-10" | 13'-4" 12'-5" | 11'-9"
55 10'-11" | 10'-2" 9'-7" 8-9" - 13'-0" 12-1" | 11°=5"
50 10'~8" 9'=11" | o'-a" 8'-5" - 12'-g" 110t -2t
65 10-g" | 9'-g" g-10" | &-1" - 12'-6" -7 | oot
70 10-4" | 9'-6" &-g" 7'-9" e 12-3" | st | 109"
75 wr | o2 | a3 | 76 = 170" | -z | 107"
80 9'-11" 8'-11" 7-11" 7'-3" - 1n'=-10" | 11'-0" 10'-5"
85 s'~10" a8-7" 7'-9" 7'-q" = 11'-8" 10'=10"| 10'-3"
90 9'-8" a'-5" 7'-6" 6-10" - 1'-6" 10'-8" 10'-1"
95 g9'-5" 8'-2" 7'—4" 6'-8" - 11'-4" 10'=7" 10'=0"
100 g'-2" 7'-11" 7'-1" 6'-6" = 11'=2" 10'-5" g'-10"
105 g-11" 7’8" 6'—11" g'—a" - 1'-1" 10'-4" | 9'-g" a'-11" =
T PO 7o §—g" _ - 10'=11"| 10-2" | 9'-7" - -
115 g'-7" 7'-5" 5'-8" - = 10'-10" | 10'-1" g9'-4" = -
120 §'-5" 7'-3" 6'-6" — - 10'-8" 9'-11" g'-2" = =
125 8-3" 71" 8’4" - -~ 10'~7" | §'-10" | 9'-0" w -
130 81" 7-0" §'-3" - - 10'-6" | 9'-9" 8'-10" = -
135 7-11" | 8’10 [ - - 10'-5" | 9'-8" 8'-8" - -
140 7'-g" 5'-9" §'-0" = B 104" 9'-6" a'-g" - —~
145 7'=7" 8'-7" 5'—11" — - 10°-2" 9'-4" 8'—4" - =
e 7.6 oy 510" ) = 10°=1" 9'-2" g8'-2" = - ’kn(i”’-‘-‘w..-,
155 74" g'-5" 5'-g" = - 10°-0" 9'-0" 8'-1" = & ,H" {r: "’v‘
160 7'-3" §'~2" 57" " = 911" g-11" [ 7-1" = - A =
165 7'=2" 6'-2" 5'-8" - - gl=q1® 8'-g" 7'=10" & -
170 7'-0" 6'-1" - - - g9'-10" 8'-7 & % s
175 e | e | - - = " a6 = z _
180 §'-10" 5'=11" - e Z 9-8" -4 ~ . _
185 ' 6'-9" 5'=10" = = = 98" | &-3" = - 1 -
190 e’ | 59" - - = ) = = b f“€.- ------------ io o
195 &'~7" 5'-8" = = . 9'-3" 8'-0" — - — SIUNN—" ',t‘
“ersraarst”’

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
7011 0, we ASSA/40mm & 60mm BERTHA ROLL-UP| (@M 2%

+  STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED. / IlLIE co ke \ | AMERICAN SHUTTER SYSTEMS ASSOC., INC, 12;2;:;“

4268 WESTROADS DRIVE

TILLIT TESTING 2 ENGINEERING COMPARY
125 W, Jen <t 303, WRGINA mnﬂus,n _mgs WEST PALM BEACH, FL. 33407 11=210
)?m-:sm Fax : (IC8)871-" Phene : (877) $89-2772 . Fax : (861} 209-3380
E_mﬂ 006718 ¥, e [ oals_| #ar. ke e DEAWING:. N2
wm.TE:R A m.ul Jr. PE v Bib ce-15a fizAor/i] 3
FLORIDA Lic. § 44167 TE | A T SHEET 11 OF 14




HEADER LOADING CHART MAXIMUM A.

DESIGN PRESSURE RATING (psf) AND

CORRESPONDING MAXIMUM SPAN "L" FOR A GIVEN TYPE OF HEADER.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAXIMUM | TYPE 1 HEADER TYPE 2 HEADER TYPE 3 HEADER TYPE 4 HEADER TYPE 5 HEADER @
[fégig'N 2 x 3 x 178" 27k 4w 1/8" 2" x4t x 14" 2" x 6" x 1/8° 2% 4 6" x 1/4°
PRESSURE]
RATING STORM BAR HEIGHT STCRM EAR HEIGHT STORM AR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
k) < 5'=0" 5 10 7 § 5-0" 5 10 8 8' 10 10 < 6'-0" 6' 10 8 8' 10 10° [ 10° 70 12° | 12" TO 14 10" T0 12" | 12" TQ 14 < 6'-0" 6 T0 & 8 1010" | 10' 70 12' | 12' 70 14
h00 R LEsq|  9'—11" 8'-4" 122" 9'-8" g'-g" 14'=10" 12'-10" 1'-6" 10'-5" 9'-9" 10-8" g'-11" 18'-4" 17°-3" 15'=5" 41" 13-0"
45.0 9" 7'=11" 11'~6" g'-1" g'-2" 140" 12'-2" 10"-10" g'=11" 9'-2" 10°-1" g'-4" 18'-8" 16°-3" 14'-6" 13'-3" 12'-3"
50.0 8'-10" 7-6" 10-11" &'-8" 7'-g" 13'-4" 11'-6" 10"-4" g'-5" a'-g" g9'-7" a8'-10" 17'-g" 18'-5" 15'-9" 12'=7" 11'-8"
55.0 g'-5" 7'-2" 10'-5" §'-3" 7'-4" 12'-8" i1'=0” g'~10" g'-g" g-4" 10'~0" g'=1" §'-5" 17'-0" 14'-8" 13'=2" 12'-0" 1'=1"
60.0 8'-1" &'-10" 10°-0" 711" 71" 12'=2? 10'-6" g'-5" g'-7" 7-11" o'-7" a'-9" g8'-1" 16'-3" 14'=1" 12'=7" 11'-6" 10'-g8"
65.0 7'—-g" gl 9'-7" il &'-9" 11'-a" 10'-1" 9'-g" 8'-3" 7'-8" gragy a'-5" 7'-9" 15'-7" 13'-6" 12'=1" 1'-g" 10°-3"
00 | 7o 64" 9'-3" 7-a" 5'-6" 1'=3" 9'-g" g'-g" 711" 7’4" a-10" 8'-1" 7’5" 15'-0" 13'-0" - 10'-8" 9'-10"
75.0 73 §'-1" 811" 71" 6'—4" 1a'~10" 9'-5" g'-5" 7'-8" 71" a'-7" 7'-10" 7'=3" 14-6" 127" 1"'-3" 10'-3" 9'-6"
80.0 7’0" 5-11" 8'-g" &-10" 5'-1" 10'-8" 9'-1" a'-2" 7'-5" B-11" 8'-3" =58 70" 14-1" 12°-2" 10'=11" 9'~11" 9'-2"
85.0 g'-¢" 5'-g" a'-5" 8'-7" 5-11" 10°-2" a'-10" 711" 7'-3" 6'-8" a-0" 7'—4" &'-¢" 13'-8" 11°-10" 0'-7" g'-g" 8-
80.0 5'-7" 5'-7" 8-2" §'-5" 5'-9" 9'-11" 8'-7" 7'~0" 6'~6" 7-10" 7-1" 6'-7" 13'-3" 1'-8" 10'=3" 9'-5" 8'-g"
95,0 55" 5'-5" 7-1" &'~3" §'=3" 9'-g" a'-a" 6'-10" B'-4" 7= &'-11" 6'-5" 12'-11" 11°-2" 10'=0" g'-2" & -5"
1000 5'-3" 5'-3" 7'-g" &'-1" 5-g" 9'-5" g'-2" 7-3" 6'-g" g'-2" 75" 69" 6'-3" 12°-7" 10'-11" 9'-9" a'-11" 8'-3"
105.0 g'-1" 52" 7'-8" &'-0" 5'—4" 9’2" =11 7'=1" 6'-6" &'-0" -3 &-7" g-1" 12'-3" 10'-8" 9'-8" 8'-a" 8'-0"
1100 §'-0" 51" 74" 5'-10" 52" 9'-0" 7'-9" 6-11" &'—4" 5'-10" Fani o &'—5" 6'-0" 12-0" 10°-5" 9'-3" a'-6" 7'-10"
115.0 5'-10" =11 2" 5'-8" 51" a'-g" 7'=7" 6'-g" ;) 5'-g" &' =11" &' —4" §'-10" 119" 10°-2" g'=1 8'-a" 7' -8"
120.0 5'-9" 4'-10" -1 5'-7" 5'-0" -7 7'-5" 6'-3" 6'-1" 5'-7" 6'-g" 6'-2" 5'-g" 11'-6" 9'-11" g'-11" 8'-1" 7'-6"
125.0 57" 4g" —11" 5'~6" #=11" g'-5" 7'-3" 8'-5" 5-11" 5'-6" &'-7" =1 5'-7" 11-3" 9'-g" g'-9" 711" 74"
130.0 5'-6" 4'-g" 8'-g" 54 #-g a-3 72" 6'-5" 5'-10" 5'-5" 66" 511" 5'-6" n'-o" o= a-7 7= 7-3"
135.0 55" y-7" 5'-8" 5'-3" 4-g g-1" 7'-0" &'-3" 5'-g" 5'—4" 6'—4" 5'-10" 5'-5" 10'-10" 9-5" 8'-5" 7'-8" 71"

&
i
L% Lot

s
- SSSi0n o

et sgaggsitt?

FLORIDA BUILDING CODE (High Velocity Hur

ricone Zone)

© 2011 TLTECO, WE.

ASSA/40mm & 60mm BERTHA ROLL-UP

CRAKN BY:
LG./AG.

liLIEc O ..

4268 WESIRCADS DRIVE

AMERICAN SHUTTER SYSTEMS ASSOC,, INC.

12/07/11
DATE

EB~0008719
WALTER A. TILLIT Jr. P.E.
FLD-RIDA Lic. HE

TILLIT TESTING & EWGINEERING COMPANY
€385 MW, J5in, St Ste, 305, VIRGHIA , Pl 33188 WEST PALM BEACH, FL. 53407 11-210
Prons ¢ (303)871-1330". Fea : (3C3)a71-1531 Phana : (877) §69-2772 . Far 1 (661) 209-8380
a—mail: tiltazed: m DRAWING He

SHEET 12 OF 14

#iv, 0 | DLscRenaN oars_ | AoV ds | oiscaemon | oati
| | 0w es-iss 12,/07/1 TR | |
i (0 | |




HEADER LOADING CHART MAXIMUM A.8.D. DESIGN PRESSURE RATING (psf) AND

CORRESPONDING MAXIMUM SPAN "L" FOR A GIVEN TYPE OF HEADER.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAxSIMUM TYPE 1 HEADER TYRE 2 HEADER @ TYPE 3 HEADER @ TYPE 4 HEADER @ TYPE 5 HEADER @
DESIGH 2" x 3" x 1/8" 2" x 4" x 1/8" 2" % 4" x 174" 2" « 8" x 1/0" 2" x 6" x 1/4"
PRESSURE
RATING STORN BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT STORN BAR HEIGHT
et < 5-0" | 87107 g 5'-0" 5 10 B 8" 10 10' g 6'-0" 6 10 &' g 10 10" | 10° 10 12' | 12' 70 14 ¢ §'-0" 8 10 8 8 10 10" | 10' TO 12" | 12' T0 14 g 6'-0" 8 10 8 g 1o 10' | 10° TO 12' | 12' T0 14
140.0 5'-3" +-8" 6’8" 5'-2" #-7" =11 8'=11" 82" 5-7" §'-2" 8-1" 7'-0" 5'-3" 5'-g" 5'-3" 10'~8" 9'-2" g-3" 7'-6" &-11"
145.0 5'-2" +-5" 6'-3" §'-1" 4'-g" 7'-10" &'-g" 81" 5'-g" §'-1" 711" 610" §'-2" §-7" 5'-2" o'-5" 91" g'-1" 7'-5" §'-10"
150.0 5'-1" 44" 8'—4" 5'-0" 45" 7'-8" 68" 5'-11" 5'-5" 5'-0" #-10" §'-9" §'-1" §'-6" 51" 10'=3" g-11" 7'-11" 7'-3" &'-9"
155.0 5'-0" +-35" 6'-2" #-11" 45" 7-7 &'-6" 5'-10" 5-4" 4= 78" 6'-8" 511" 5'-5" 5'-0" 101 8'-9" 7-10" 7'-2" §-7"
160.0 =11" 2" 81" 4'-10" 4t 7'-5 &'~5" 5'-g" 5-3" 4-10" 7-7" §'-6" 5'-10" 5'-4" 411" g-11” -7 7'-8" 7'-0" &'-6"
185.0 +'~10" =1 §'—0" 4'-9" 4'-3" 7'-4° &'-4" 58" 5'-2" -10* 7-5" 65" 5'-9" §'-3" +-10 -10" &'-6" 77" g'-11" &-5"
170.0 +-10° F 5'-11° 4'-g" 4'-2" t3t 8'-3" 57" 5-1" '-g" 74t 54" 5'-g" 5'-2" 4-10" —g" 84" 7'-8" &'-10"
175.0 4'-g" +-0" 5'-10" 47" 42" 7'=-1 8'-2" 5'-g" 5'-0" +-8" 7-3" 6'-3" 5-7" 51" 4-9" 9'-6 -3 74" g'-g"
180.0 +-g F-11" 5’9" 47" 41" 7'-0° 81" §'-5" -1 -7 71t §-2" 5'-6" 5'-0" +-8" g'-5" a-1 7-3 g'-8"
185.0 4<2! F-u1” 5'-8" +-6" #-0" §'-11 5'-0" 5'-4" -t '-6" 7-'0" 8-t ' -5" 50" =7 93" g-0" 7-2" 6'-6"
190.0 4" =10 8'~7" 45" 4'-0" 5'-10" §-11" 5'-3" 4'-10" '~-6" 611" §'-0" 5'-4" 4-11" +-5" g'-2 7-1" 7=1" a'-5"
192.0 Py =g s e For | eo s5_10" | s-a- e 5" &-10" EOSTE 0t | 46" | o0 7-10° 7-0" 4"
o J4I9TIIP S,
,‘15'..‘;,__?}‘ TU‘
\, FLORIDA BUILDING GODE (High Velocity Hurricane Zone)
92011 TLTECO, IC. ASSA/40mm & 60mm BERTHA ROLL-UP| (o &

‘%
SSJON p,\,(" :'

ot
S trirrprasst!

liLlEcowm

AMERICAN SHUTTER SYSTEMS ASSOC., INC.

4268 WESTROADS DRME

FLORIDA Lic. § 44167

12407/11
DATE

TILOT TESTING & ENGINZZAING COLPANY

o35 o i S s 26 v Qs 1, S316s WEST PAM BEACH, FL. 33407 11-210
R For ¢ e i Pnone : (877) 9592772 . Fax : (551) 209-8380
e-maIEB—DnOBTIQ 5, Cizchrnch ouE_| BV, o Stacarnon k| ORAWING No
WALTER A TLUT Jr. PE. ' CEE ST T LT R SHEET 13 OF 14

| T R | |




MULLION LOADING CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (psf) AND
CORRESPONDING MAXIMUM SPAN "L"(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING

(USE MAXIMUM VALUES EETWMOS!TIVE AND NEGATIVE LOAD)

MAKIMUM mveE 1 mutLion (1) e 2 wuwon (O) wre 2 wuton ()
n%g\'g'N Fa ¥ ayse 4%k 4 x 14" £k B x 14"

PRESSURE

RATING MULLION SPACING MULLION SPACING MULLIGN SPACING
(p.sf.)

ca-0|eTos|sT0oe|eTon]|c a0 5 TO 8 [6 08| g 40|+ TOS |5 T06 |6 T08 (8 T0 1000 TO 12
00 o s 9'-0" | &'-4" | 7-10” | &'-2" [1r-e" | 10'-11" 103" [10-9" | 16'=4" | 15'-2" | 14'-3" | 14'-10"[13'-10" [ 13'-0
45.0 88" |a-o0" | 7-7" | 7= [1r-a" [10-8" | o-11" [10-4" fus'-8" [14'-7" | 138" |14'-gn [13-37 126"
50.0 8-+" | 7=~ |73 | 7= |io-11"| 10'=2" f9'-7" |10'-0" |15'-2" | 14'=1" | 13'=3" |13'-10" [12'-10" [12'-1"
55.0 g'-1" | 7-6" | 7=1" | 7'=a" J10'-7" | 9'—10" | g'-3" |9'-8" |i14'-8" |13'-7" |12'-10"|13'-4" |12'-5" | 11'-8"
80.0 710" | -3 [ e-10" | 72" J10'-3" | 9'-7" [9'-0" |9'-5" |i14'-3" |13'-3" |12-5" [13'-0" [12-1" [ 10-4”
65.0 7-g" | 71" [ &-8" [7-0" Ji0'-0" |9'~4" |@'-g" | 9'-2" |13-n"[12'-11" [12'-2" | 12'-8" [11°-9" | 11’1
70.0 75" |g—117 | 6'=6" | '=10" § o'~g" | 9'—1" |@'-6" |&-11" L1370 [12-7" [1'-10 124" | 11°-5" | 10'-9"
75.0 7'-35" §'=4" | &'=8" | 9'=7" |8&'-10" | g'-4" 8'-8" | 13'-3" | 12'=3" | 11'=7" [12'=1" | 11'-2" | 10'=6"
30,0 7-2" | g'=7" | &'=3" | &'-6" | 9'—4" g'-g" | g'-2" | &-g" | 12-11"12'=0" {11'-4" |11'=10" [10'=11"] 10'-4"
850 |7-0" | 6-6" [&-1" | 6=+ Jo'-2' |&-e" |@-0" |&-4" |iz'-g” | 11'-g” | 11'=1" | 19'-7"fa0-0" | 1071
30.0 §'-10" | &'-4 §-0" | 6'-3" | 9'-0" | 84" | 710" &-2" [12-5" | 11'=7"|r0'-11"| 11'-4" |10'-6" | §'-1
w0 |e-a | 6-3 | g-1w0| 62" a—to" | 2" [ 7-g" | &-1" [ 12'-3" | 1r-g’ | 1o'-g" | 112t | 104" | 997
1000 | 6-7 | 6-2" | s—9" | &-0" | &'-g" | &=1" | 7'~7" | P'-11"|12'-0" | 11°-2" | 10'-6" | 10'-11"[ 102" | o'-7

1050 | &-8" | &-1" | -7 | s-nn| @ | F-11"| v-€" | 7-9" |11'=10"| 1°-0" | 104" 109" - - HOTES :  REFER TO ELEVATIONS ON SHEET 1A OF 14

1100 | 85" |5-11" | 85" | s-10"| &-5" | 7-10"| 74" | 78" | 11'-8" |1g'-rot| 107-2") 107" ) — - 1~ FOR_MULLIONS INSTAILFD) /0 STORM BARS

115.0 5-4" |5-10"| 5-4"| 5-8" | g~3* | 7-8" | 7-3* | 7-7" | 11'-8" | 10'-8"| 10°-0Q" | 10'-5" - - A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
1200 | 6'-3" sg" | 5'-3"| 8-7" | g—a* | 7=7" | 7=2" | =5 | 11'=4"| 10'-8" | @'~11"] 10'-4" il = 2-, FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS

125,0 6'-2" s-7 | 5-1" [ 5-5" [ &-1" | 7-8" | 7-0" | 7=4" §11°-2" | 10'=4"] g'=9" | 10'-2" - - A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED
1300 | 6'-1" 56 | 5-0"| 5=+ | 7-11"]| 7=5" | g'=11"| 7-3" | 11’-0" | 10°=3"| 9’-8" | 10'-0" = = 8) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
135.0 §-0" | 5-5" | #=-n1"| 5=3" | 7-10"| 7=3" | g'-10" | 7-2" f1o'-11"| 10=1"| g'=6” | @'=11"] — =

1400 | §-11") 5'-3" | 4'-10"| ¥-2 7-¢" | -2 | g-9" | 7~1" |10'-9" | 10-0" | g'-5" | @'-10"| — -

145.0 510" 52" | 49" | 5-1" | 7-8" | 7=1" | g'=8" | 7-¢" |10°-7" | 9'-10" | g'-3" | 9'-8" - =

1500 | 5-9" | s—1" | #-a&" | 5-0" | 7-7" | -0 | &'-7 {&-11" [ 106" | g-0" | g-2" | 9’7" . -

155.0 5-7" | s-g" | #=7"|4-n1"] 76" | 7-0" |&'-7" {&-10" ]| 10'-5" | g'~p” | 9'~1" | 9'-B" . .

160.0 56" | 4-11"] +-g" | 4=10"] 75" | &'-11"| &'-8" | &-9" | 10'~3"| ¢'~7" | 9'-Q" | 9'-¢" e - &
165.0 5'-5" =10 a'-5" | #'-9" | 74" | &'-10"| &-5" | &'-8" | 10'-2" | 9'-5" | g'-10" | 9'-3" o . §
1700 | 54 | 4-107] #-5" | 48" | -3 | 69" | 4" |&-8" [10°-1" | ¢'~¢" | 80" | 9'-2" . - 3
1750 | 53" | a'—g" | #-4" | 4'-7" | 72" | &'-g" | 6=4" | &'=7" | 10'-0" | 9'~3* | @-7" | 9’1" - = ’3
1800 | 5-3" | a4—a" | -3 | 46" | 772" | &'=7" | &-3" | 6'-6" | 9'-11" | 9'~2* | &'-6" | ¢'~0" - - %
1850 | 52" | w-7" | 4-2" | 4-6" | 71" | -7~ | 6-2" | §'-5" | 9'-10" | 9’y | @-4" | @-11"f — i)

1900 | 5-1" | +-6" | #-2"| 45" [ 7-0" | &-6" | 6'-1" | 6'=5" | 9-9" | g'~0" | 8'-3" | 8'-8" = =

1950 | 50" | 4=6" | #-1" | 4=a" | &'-11"| &'-5" | 6'-1" | 6'~4" | 9’5" | &'-11"| &'-2" | 8'-8" £ =

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

© 2011 TUTECO, HC. ASSA/40mm & 80mm BERTHA ROLL-UP T';""']‘A?
/ IIL IE COm E AMERICAN SHUTTER SYSTEMS ASSOC.,, INC, 'zﬁ;é”
€.
4268 WESTROADS DRIVE
TILOT TE & ENGINEERING COMPANY
5358 M. Jsiﬂ?fsu 308, VIRONA e, ESO 13185 WEST PALM BEACH, FL. 33407 11-210
Pl pdeei=i230 rax + (omami=1ah Prons : (877) 999-2772 . Fax ¢ (361) 203-8380
B e e s P
- . P.E. Ll =
ELGRIOA e § 44163 — F— 1 1 SHEET 14 OF 14




